

Kansas Register

Ron Thornburgh, Secretary of State

Vol. 23, No. 16 April 15, 2004 Pages 439-478

this issue	Page
Kansas Department of Agriculture Notice of Governor's Agricultural Advisory Board meeting	441
Legislative Division of Post Audit Invitation for bids	441
Legislative bills and resolutions introduced April 1-2	441
City of Wichita Notice to bidders	441
Department of Health and Environment Notice of 2003 Action Plan Amendment to the Kansas Consolidated Plan Request for comments on proposed air quality permit Request for comments on proposed municipal solid waste landfill permit Notice concerning Kansas water pollution control permits	442 443
Heartland Works, Inc. Request for proposals for commercial insurance package policy	443
Kansas Development Finance Authority Notice of hearing on proposed revenue bonds	442
Department of Administration—Division of Purchases Notice to bidders for state purchases	443
Board of Adult Care Home Administrators Notice of meetings	447
Kansas Department of Transportation Request for comments on the Statewide Transportation Improvement Program Notice to consulting engineers	447 447
Department of Revenue—Division of Vehicles Notice of intent to establish new line-makes for existing new motor vehicle dealer Notice of intent to relocate established dealer and new line-makes	
Historic Sites Board of Review Notice of meeting	
Department of Revenue Notice of available publications	
Pooled Money Investment Board Notice of investment rates	
Department of Administration—Division of Facilities Management Notice of hearing on proposed administrative regulations	
Secretary of State Notice of corporations forfeited	451
(continued on nex	t page)

Attorney General Opinions 2004-3 through 2004-6	452
Notice of Bond/Note Sale City of Lawrence U.S.D. 232, Johnson County (De Soto) City of Plains	454
New State Laws Senate Bill 373, concerning school districts; relating to consolidation of districts	456 456 457
Temporary Administrative Regulations Kansas Lottery	459
Index to administrative regulations	474

The KANSAS REGISTER (USPS 0662-190) is an official publication of the State of Kansas, published by authority of K.S.A. 75-430. The Kansas Register is published weekly by the Kansas Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594. One-year subscriptions are \$80 (Kansas residents must include \$5.76 state and local sales tax). Single copies may be purchased, if available, for \$2 each. **Periodicals postage paid at Topeka, KS.**

POSTMASTER: Send change of address form to Kansas Register, Secretary of State, 1st Floor, Memorial Hall, 120 S.W. 10th Ave., Topeka, KS 66612-1594.

© Kansas Secretary of State 2004. Reproduction of this publication in its entirety or for commercial purposes is prohibited without prior permission. Official enactments of the Kansas Legislature and proposed and adopted administrative regulations of state agencies may be reproduced in any form without permission.

PUBLISHED BY Ron Thornburgh Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594 (785) 296-4564 www.kssos.org



Register Office: 1st Floor, Memorial Hall (785) 296-3489 Fax (785) 368-8024 kansasregister@kssos.org

Department of Agriculture

Notice of Board Meeting

The Governor's Agricultural Advisory Board will meet at 10 a.m. Wednesday, April 28, at the Kansas Department of Agriculture, fourth floor training room, 109 S.W. 9th, Topeka. A meeting agenda will be available prior to the meeting by contacting Ginger Patterson at (785) 296-3902. This meeting is open to the public and will include time for public comment. Persons needing special accommodations should contact the Department of Agriculture at (785) 296-3902 at least three business days prior to the meeting.

Adrian J. Polansky Secretary of Agriculture

Doc. No. 030568

State of Kansas

Legislative Division of Post Audit

Invitation for Bids

Sealed bid proposals in response to a Legislative Division of Post Audit invitation for bids on audit work will be received until 10 a.m. Wednesday, May 12. The invitation covers the following performance audit work:

• A security audit of the Kansas Lottery

A copy of the invitation for bids may be obtained from the Legislative Division of Post Audit, 800 S.W. Jackson, Suite 1200, Topeka, 66612, (785) 296-3792, or it may be downloaded from the division's Web site at www.kslegislature.org/postaudit.

Barbara J. Hinton Legislative Post Auditor

Doc. No. 030572

State of Kansas

Legislature

Legislative Bills and Resolutions Introduced

The following numbers and titles of bills and resolutions were introduced April 1-2 by the 2004 Kansas Legislature. Copies of bills and resolutions are available free of charge from the Legislative Document Room, 145-N, State Capitol, 300 S.W. 10th Ave., Topeka, 66612, (785) 296-4096. Full texts of bills, bill tracking and other information may be accessed at www.kslegislature.org.

Senate Resolutions

SR 1845, A resolution in support of Falun Dafa.

SR 1846, A resolution memorializing the Secretary of the Department of Veterans Affairs to determine that various ailments warrant a presumption of service connection because of service in the armed forces of our nation during the Persian Gulf War.

SR 1847, A resolution congratulating and commending the Highland Park High School boys' basketball team and Coach Ken Darting for winning the boys Class 5A State Basketball Championship.

SR 1848, A resolution congratulating and commending the Scott Community High School wrestling team.

SR 1849, A resolution declaring Saturday, May 1, 2004, as veterans appreciation day in Independence.

SR 1850, A resolution congratulating and commending Martha L. (Pat) Brady.

Doc. No. 030554

State of Kansas

Department of Health and Environment

Notice of 2003 Action Plan Amendment to the Kansas Consolidated Plan

The Kansas Department of Health and Environment will publish a preliminary draft of the 2003 Action Plan, as amended, for the Kansas Consolidated Plan. The amended 2003 Action Plan incorporates the federal Housing Opportunities for Persons with AIDS (HOPWA) program allocation of funds to the state of Kansas. The HOPWA amendment transfers \$75,000 from operating costs for facility-based housing to supportive services, including nutrition supplements, counseling services and transportation to and from HIV-related appointments.

The amended 2003 Action Plan will be available for public review and comment until May 17. To obtain a copy of the amended 2003 Action Plan, contact the Kansas Department of Health and Environment, 1000 S.W. Jackson, Suite 210, Topeka, 66612-1274, (785) 296-6036, fax (785) 291-3420, e-mail: kmilhon@kdhe.state.ks.us.

Roderick L. Bremby Secretary of Health and Environment

Doc. No. 030573

(Published in the Kansas Register April 15, 2004.)

City of Wichita, Kansas

Notice to Bidders

The city of Wichita will receive bids at the Purchasing Office, 455 N. Main, 12th Floor, Wichita, 67201, until 10 a.m. Friday, May 14, for the following project:

KDOT Project No. 87N-0197-01 / 472-83889 204340 (OCA Code 706874) Paving

Rock Road, 21st Street North to 29th Street North

Requests for the bid documents and plans should be directed to City Blue Print, (316) 265-6224, or to Marty Murphy, (316) 268-4488. Other questions should be directed to the respective design engineer at (316) 268-4501.

All bids received will thereafter be publicly opened, read aloud and considered by the Board of Bids and Contracts. All work is to be done under the direction and supervision of the city manager and according to plans and specifications on file in the office of the city engineer. Bidders are required to enclose a bid bond in the amount of 5 percent with each bid as a guarantee of good faith. The Wichita City Council reserves the right to reject any and all bids.

The successful bidder may contact Pam Plank at (316) 268-4499 or Marty Murphy at (316) 268-4488 for extra sets of plans and specifications.

Marty Murphy Administrative Aide City of Wichita—Engineering

Heartland Works, Inc.

Request for Proposals

Heartland Works, Inc. is accepting bids for the purchase of a commercial insurance package policy, including general liability, property, inland marine, commercial crime, non-owned auto, commercial umbrella liability and workers compensation insurance. It is not required that all policies be provided by one carrier. To receive a request for proposal, including all specifications, contact the Heartland Works office at 610 S.W. 10th Ave., Suite 210, Topeka, 66612-1616, (785) 234-0500. Bids must be received not later than 3 p.m. Thursday, May 20. Heartland Works welcomes all interested companies to bid.

Nancy Leonard Administrative Assistant

Doc. No. 030579

State of Kansas

Kansas Development Finance Authority

Notice of Hearing

A public hearing will be conducted at 9 a.m. Thursday, April 29, in the offices of the Kansas Development Finance Authority, 555 S. Kansas Ave., Suite 202, Topeka, on the proposal for the KDFA to issue its Agricultural Development Revenue Bond for the project numbered below in the respective maximum principal amount. The bond will be issued to assist the respective borrower named below (who will be the owner and operator of the project) to finance the cost in the amount of the bond of acquiring the project or for the purpose of refunding a bond previously issued to finance the project. The project shall be located as shown:

Project No. 000603—Maximum Principal Amount: \$127,890. Owner/Operator: Daryl D. and Ann Leslie Schlesener. Description: Acquisition of 210 acres of agricultural land and related improvements and equipment to be used by the owner/operator for farming purposes. The project is located at the Northwest Quarter of Section 21, Township 15, Range 4, approximately 4 miles south of Woodbine, Kansas, on Union Road and 2 miles west on 1000 Ave., in Dickinson County.

The bond, when issued, will be a limited obligation of the KDFA and will not constitute a general obligation or indebtedness of the state of Kansas or any political subdivision thereof, including the KDFA, nor will it be an indebtedness for which the faith and credit and taxing powers of the state of Kansas are pledged. The bond will be payable solely from amounts received from the respective borrower, the obligation of which will be sufficient to pay the principal of, interest and redemption premium, if any, on the bond when it becomes due.

All individuals who appear at the hearing will be given an opportunity to express their views, and all written comments previously filed with the KDFA at its offices at 555 S. Kansas Ave., Suite 202, Topeka, 66603, will be considered. Additional information regarding the project may be obtained by contacting the KDFA.

Any individual affected by the above-described project may, at or prior to the hearing, file a written request with the KDFA that a local hearing be held on the proposal to issue a bond to finance said project. A local hearing, if requested, would be conducted in the county where the project in question is located.

Stephen R. Weatherford President

Doc. No. 030566

State of Kansas

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment is soliciting comments regarding a proposed air quality construction permit. Panhandle Eastern Pipe Line Company has applied for an air quality construction permit in accordance with the provisions of K.A.R. 28-19-300 to install a new engine. Emissions of oxides of nitrogen $(NO_{\rm x})$, sulfur dioxide (SO_2) , carbon monoxide (CO), particulate matter (PM), particulate matter less than 10 microns $(PM_{\rm 10})$, volatile organic compounds (VOCs) and hazardous air pollutants (HAPs) were evaluated during the permit review process.

Panhandle Eastern Pipe Line Company, Houston, Texas, owns and operates the stationary source located at S18-T28S-R18W, Kiowa County, Kansas, at which the

new engine is to be installed.

A copy of the proposed permit, permit application, all supporting documentation and all information relied upon during the permit application review process is available for public review for a period of 30 days from the date of publication during normal business hours at the KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka; and a copy of the proposed permit can be reviewed at the KDHE South Central District Office, 130 S. Market, Suite 6050, Wichita. To obtain or review the proposed permit and supporting documentation, contact David A. Peter, (785) 296-1104, at the KDHE central office; and to review the proposed permit only, contact Don Mies, (316) 337-6107, at the KDHE South Central District Office. The standard departmental cost will be assessed for any copies requested.

Direct written comments or questions regarding the proposed permit to David A. Peter, KDHE, Bureau of Air and Radiation, 1000 S.W. Jackson, Suite 310, Topeka, 66612-1366. In order to be considered in formulating a final permit decision, written comments must be received

before the close of business May 17.

A person may request a public hearing be held on the proposed permit. The request for a public hearing shall be in writing and set forth the basis for the request. The written request must be submitted to Brie Wilkins, Bureau of Air and Radiation, not later than the close of business May 17 in order for the Secretary of Health and Environment to consider the request.

Roderick L. Bremby Secretary of Health and Environment

Department of Health and Environment

Request for Comments

The Kansas Department of Health and Environment has reviewed an application from Norton County to construct and operate a municipal solid waste landfill called a small arid landfill (SAL). The SAL would be located in the Southwest Quarter of Section 25, Township 2 South, Range 23 West, approximately 1 mile northeast from the city of Norton. The site has been permitted for waste management activities since 1976, and includes a closed municipal solid waste landfill, an inactive solid waste incinerator, an inactive incinerator ash landfill, an active construction and demolition waste landfill, and an active yard waste composting facility. The site also includes a recycling center, tree and brush burn area, waste tire storage and appliance salvaging.

The proposed SAL would cover approximately 18 acres on the county's existing 60-acre facility. The SAL is designed with approximately 393,000 cubic yards (approximately 45 years) of capacity for municipal solid waste disposal and daily/intermediate cover material. The bottom of the SAL is proposed at elevations ranging from approximately 2,275 feet to 2,305 feet, resulting in excavation depths up to 20 feet below the existing ground surface. The completed surface of the SAL (including the final cover) is proposed at elevations ranging from approximately 2,297 feet to 2,335 feet, representing fill depths up to 10 feet above the existing ground surface. The final cover on the SAL is proposed to consist of at least 56 inches of soil with native grasses established on the surface.

Norton County has certified that the application described herein is consistent with the regional solid waste management plan and is compatible with the surrounding land use. KDHE has reviewed the application and found it to be in conformance with the state solid waste statutes and regulations.

KDHE is providing public notice of its intent to issue an amended permit to Norton County to allow the proposed SAL described herein. A copy of the administrative record, which includes the permit application, engineering drawings, draft permit and other information with respect to this permit action, will be available for public review through May 17 during normal business hours at the following locations:

Kansas Department of Health and Environment Bureau of Waste Management 1000 S.W. Jackson, Suite 320 Topeka, 66612-1366 Contact: Paul Graves (785) 296-1596

Norton County Clerk's Office Norton County Courthouse 105 S. Kansas, P.O. Box 70 Norton, 67654 Contact: Robert Wyatt (785) 877-5710 Additionally, the application form is available for public viewing via the Internet at www.kdhe.state.ks.us/waste. Anyone wishing to comment on the proposed facility should submit written statements by 5 p.m. May 17 to Paul Graves of KDHE at the address listed above, via facsimile to (785) 296-1592, or via e-mail to pgraves@kdhe.state.ks.us. Comments postmarked by May 17 and received within one week thereafter also will be considered.

KDHE will subsequently issue written responses to all formal comments received through the end of the official public comment period. After consideration of all formal comments as described above, KDHE will make a final decision on whether to issue the permit. Notice of the decision will be given to the applicant, to anyone who submitted formal comments and to those who requested notice of the final permit decision.

Roderick L. Bremby Secretary of Health and Environment

Doc. No. 030565

State of Kansas

Department of Administration Division of Purchases

Notice to Bidders

Sealed bids for items listed will be received by the Director of Purchases until 2 p.m. on the date indicated. For more information call (785) 296-2113:

04/27/2004	07276	Modular Systems Furniture and
		Chair Component Kits
04/27/2004	07278	Cold Central Plant Recycling of
		KDOT-Owned Asphalt Millings
04/29/2004	07265	Transportation Services—KU on
		Wheels (Bus)/SafeRide/Lift Van
		Services
04/29/2004	07275	Chemicals for Soap Factory
05/03/2004	07256	CCTV System

The above referenced bid documents can be downloaded at the following Web site:

http://da.state.ks.us/purch/rfq/

Additional files may be located at the following Web site (please monitor this Web site on a regular basis for any changes/addenda):

http://da.state.ks.us/purch/adds/default/htm

The following bid documents may be obtained by calling (785) 296-8899:

05/06/2004	A-9847	Lippincott/Spooner Hall Utility
		Tunnel 506/508
05/06/2004	A-9790	Replace Exterior Doors and Store-
		front
05/11/2004	A-9867	Former Collins Building Renova-
		tion—Phase 1—Law Enforcement
		Training Center

Keith Meyers Director of Purchases

Department of Health and Environment

Notice Concerning Kansas Water Pollution Control Permits

In accordance with Kansas Administrative Regulations 28-16-57 through 63, 28-18-1 through 15, 28-18a-1 through 32, 28-16-150 through 154, 28-46-7, and the authority vested with the state by the administrator of the U.S. Environmental Protection Agency, draft permits have been prepared and/or permit applications have been received for discharges to the waters of the United States and the state of Kansas for the class of discharges described below.

The determinations for permit content are based on staff review, applying the appropriate standards, regulations and effluent limitations of the state of Kansas and the EPA, and when issued will result in a State Water Pollution Control Permit and National Pollutant Discharge Elimination System Authorization subject to cer-

All Kansas Department of Health and Environment district office addresses and telephone numbers are listed below.

Public Notice No. KS-AG-04-107/108 Application(s) for New or Expansion of **Existing Swine Facilities**

Will Be Located

Randy Pfizenmaier

2169 Frontier Road

Receiving Water

Morganville, KS 67468

Lower Republican River Basin

Owner of Property Where Facility

Owner of Property Where Facility

Name and Address of Applicant Randy Pfizenmaier 2169 Frontier Road Morganville, KS 67468

Legal Description

NW/4 of Section 23, T07S, R01E, Clay County

Kansas Permit No. A-LRCY-S054

This is an application for a permit for the expansion of an existing unpermitted swine and cattle facility. A new or modified permit will not be issued without additional public notice. The application is for a maximum of 1,026 head of swine weighing more than 55 pounds (410.4 animal units), 660 head of swine weighing 55 pounds or less (66 animal units), 52 head of cattle weighing more than 700 pounds (52 animal units) and 50 head of cattle weighing 700 pounds or less (25 animal units), for a total of 1,686 head (476.4 animal units) of swine and 102 head (77 animal units) of cattle.

Will Be Located

676 Harvest Road

Receiving Water

Marysville, KS 66508

Big Blue River Basin

Kim Holle

Name and Address of Applicant M & K Farms 676 Harvest Road Marysville, KS 66508

Legal Description SE/4 of Section 12, T02S, R06E, Marshall County

Kansas Permit No. A-BBMS-S047

This is an application for a permit for the expansion of a existing facility. A new or modified permit will not be issued without additional public notice.

This is a new permit for an existing facility of 350 total animal units that is expanding by adding 600 head (240 animal units) of swine greater than 55 pounds and 10 head (10 animal units) of cattle greater than 700 pounds, and reducing 30 head (15 animal units) of cattle 700 pounds or less, for a new permit for 1,200 head (480 animal units) of swine greater than 55 pounds, 600 head (60 animal units) of swine

55 pounds or less, 30 head (30 animal units) of cattle greater than 700 pounds and 30 head (15 animal units) of cattle 700 pounds or less, for a new total of 585 animal units.

Public Notice No. KS-AG-04-109/117 **Pending Permits for Confined Feeding Facilities**

Name and Address Legal Receiving of Applicant Description Water NE/4 of Section 4, Melvin Schumacher Smoky Hill River Schumacher Trust T13S, R18W, Ellis Basin Charolais & Red Angus County 1855-B 250th Ave. Hays, KS 67601

Kansas Permit No. A-SHEL-B007

This is a new permit for an existing facility for a maximum of 125 head (125 animal units) of cattle weighing greater than 700 pounds and 348 head (174 animal units) of cattle weighing 700 pounds or less, for a total capacity of 473 head (299 animal units) of cattle.

Name and Address Legal Receiving of Applicant Description Water H & M Farms SW/4 of Section 15, Missouri River Route 1, Box 19A T02S, R12E, Basin Seneca, KS 66538 Nemaha County

Kansas Permit No. A-MONM-S064

This is a new permit for an existing facility for 890 head (356 animal units) of swine greater than 55 pounds, 720 head (72 animal units) of swine 55 pounds or less and 40 head (20 animal units) of cattle 700 pounds or less, for a total of 448 animal units.

Receiving Name and Address Legal of Applicant Description Water Miller Dairy NE/4 of Section 1, Lower Arkansas T24S, R07W, Reno Edwin Miller River Basin 7305 W. Morgan County Hutchinson, KS 67501

Kansas Permit No. A-ARRN-B005

This is a renewal permit with modifications for an existing facility for 70 head (70 animal units) of beef cattle. The modification is changing the facility from a dairy facility fo a facility for beef cattle. There are no changes in the pen sizes or waste management system.

Name and Address Legal Receiving Description of Applicant Water Rock Creek Cattle Company NE/4 of Section 15, Solomon River Troy Tremblay T08S, R24W, 1955 U.S. Hwy. 24 Graham County Penokee, KS 67659

Kansas Permit No. A-SOGH-B003

This is a permit renewal for an existing facility for a maximum of 450 head (450 animal units) of cattle weighing greater than 700 pounds and 450 head (225 animal units) of cattle weighing less than 700 pounds, for a total capacity of 900 head (675 animal units).

Name and Address Receiving Legal of Applicant Description Water Richard Benoit SE/4 of Section 29, Solomon River T08S, R20W, Rooks Benoit Dairy Basin HC 01, Box 3 County Damar, KS 67632

Kansas Permit No. A-SORO-M005

This is a renewal permit for an existing facility for 100 head (140 animal units) of mature dairy cattle weighing over 700 pounds each.

Name and Address Legal Receiving of Applicant Description Water Arlene Wigginton SW/4 of Section 18, Solomon River 540 13th T09S, R29W, Basin Hoxie, KS 67740 Sheridan County

Kansas Permit No. A-SOSD-B001

This is a renewal permit for an existing facility for a maximum of 400 head (200 animal units) of cattle weighing 700 pounds or less.

Receiving Name and Address Legal of Applicant Description Water Gene Schrock SE/4 of Section 26, Lower Arkansas 10601 S. Mayfield Road T24S, R05W, Reno River Basin Haven, KS 67543 County

Kansas Permit No. A-ARRN-M026

This is a renewal permit and expansion of an existing facility. The expansion is the addition of 5 head of dairy cattle for a total of 35 head (49 animal units) of dairy cattle.

Name and Address Receiving Legal of Applicant Description Water NW/4 & S/2 of Cedar Bluff Cattle Feeders, Smoky Hill River Section 31, T14S, Route 2, Box 71 R21W, Trego Ellis, KS 67637 County

Kansas Permit No. A-SHTR-C001 Federal Permit No. KS0043559 This is a permit renewal and modification for an existing facility for 12,500 head (12,500 animal units) of cattle weighing greater than 700

pounds each. There will be no change in number of head. Additional waste controls will be built to serve minor areas that did not previously have runoff controls.

Name and Address

Legal Receiving of Applicant Description Water Rooks County Feeders, LLC SE/4 of Section 09, Solomon River 2070 22nd Road W/2 of Section 10, Plainville, KS 67663 T09S, R17W, Rooks

Kansas Permit No. A-SORO-C001 Federal Permit No. KS0080888

This is a renewal permit for an existing facility for a decrease in head capacity from 10,000 head (10,000 animal units) of beef cattle weighing more than 700 pounds to a maximum of 8,000 head (8,000 animal units) of beef cattle weighing more than 700 pounds.

Public Notice No. KS-04-061/066

Type of Name and Address of Applicant Waterway Discharge Ellsworth, City of Oak Creek Treated Domestic P.O. Box 163 Wastewater Ellsworth, KS 67439

Kansas Permit No. M-SH07-OO01 Federal Permit No. KS0085693

Legal: NW1/4, S22, T15S, R8W, Ellsworth County

Facility Description: The proposed action is to reissue an existing permit for operation of an existing wastewater treatment facility treating primarily domestic wastewater. The proposed permit includes limits for biochemical oxygen demand, total suspended solids, ammonia, fecal coliform, total residual chlorine and pH. Monitoring of chlorides, sulfates, nitrate, nitrite, total Kjeldahl nitrogen, total nitrogen, phosphorus and effluent flow also will be required. Contained in the permit is a schedule of compliance requiring the permittee to make necessary improvements and achieve compliance with the permit by December 31, 2007. The permit requirements are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-f), and Federal Surface Water Criteria, and are water-quality based.

Name and Address of Applicant	Waterway	Type of Discharge
Fort Scott, City of	Marmaton River	Treated Domestic
1 E. 3rd St.		Wastewater
Fort Scott, KS 66701		

Federal Permit No. KS0095923 Kansas Permit No. M-MC11-OO02 Legal: SE¹/₄, S19, T25S, R25E, Bourbon County

Facility Description: The proposed action is to issue a modify and reissue the permit for operation of a newly constructed activated sludge mechanical treatment facility operating in parallel with an existing three-cell aerated lagoon system treating primarily domestic wastewater. The proposed modification has rearranged the outfalls listed to match the facility operations. All other terms and conditions remain unchanged.

Name and Address Type of of Applicant Waterway Discharge St. Francis, City of South Fork of the Treated Domestic P.O. Box 1517 Republican River Wastewater St. Francis, KS 67756

Federal Permit No. KS0031089 Kansas Permit No. M-UR18-OO01

Legal: W1/2, NW1/4, NW1/4, S23, T3S, R20W, Cheyenne County

Facility Description: The proposed action is to modify and reissue an existing permit for operation of an existing wastewater treatment facility treating primarily domestic wastewater. The proposed modifications includes the description of a proposed expanded facility. The proposed permit also includes limits for biochemical oxygen demand, total suspended solids and pH. Monitoring of ammonia, fecal coliform and fluoride also will be required. Contained in the permit is a schedule of compliance requiring the permittee complete upgrades and achieve compliance with the permit by March 1, 2005. The permit requirements are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-f), and Federal Surface Water Criteria, and are technology based.

Name and Address Type of Discharge of Applicant Waterway Kansas Army Ammunition Process Wastewater & Plant 23018 Rooks Road, Suite AA Stormwater Parsons, KS 67357 Runoff

Kansas Permit No. F-NE55-PO04 Federal Permit No. KS0029360

Receiving Stream: Outfalls 002, 004, 007, 010 & 011 -

Unnamed Tributaries to Labette Creek

Outfalls 003 & 009

Unnamed Tributary to Neosho River

Operator/Permittee: Day and Zimmerman, Inc.

Legal: Longitude 95.21208W / 37.32847N

Facility Description: The proposed action is to modify and reissue an existing permit for operation of an existing wastewater treatment facility treating primarily process wastewater and stormwater runoff. This facility is a government-owned, contractor-operated military industrial installation engaged in an ammunition load/assemble/pack operation. The proposed changes include modification of Outfall 010 to include load, assemble, and pack of PAX-21, an RDX based explosive that contains ammonium perchlorate. Wash water is collected in the sump in the area (1000), filtered through a diatomaceous earth filter and carbon absorption filters, and ion exchange units are added prior to discharge. The proposed permit contains limits for perchlorate at Outfall 010 in addition to all limits of the previous permit. There are no other changes to the permit as previously issued. The permit requirements are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28 (b-f), and Federal Surface Water Criteria, and are water-quality based.

Name and Address Type of of Applicant Waterway Discharge Morrison Ventures East Dry Creek Groundwater P.O. Box 737 Remediation Salina, KS 67402

Kansas Permit No. I-SH33-PO08 Federal Permit No. KS0090336

Legal: NE1/4, S16, T14S, R2W, Saline County

Facility Name: Scoular Elevator

Facility Location: 3339 E. Country Club Road, Salina, KS 67401

Facility Description: The proposed action is to reissue an existing permit for operation of an existing groundwater remediation project. Groundwater contaminated with volatile organic compounds is pumped out of well #SC-3 at a maximum rate of 10 gpm and routed through an air stripper before commingling with well #SC-1 water. Combined average daily discharge is about 25,000 gallons. The proposed permit includes limits for tetrachloromethane and pH. Monitoring of effluent flow also is required. The permittee shall perform a scan for volatile organic compounds on the influent to the air stripper annually. The permit requirements are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-f), and Federal Surface Water Criteria, and are water-quality based.

Name and Address of Applicant

Sterling, City of 333 N. Broadway Sterling, KS 67579

Waterway

Cow Creek via Bull Creek via Silver Lake via 11th Street Ditch Type of Discharge

Noncontact Cooling Water

Facility Name: Sterling Municipal Power Plant

Kansas Permit No. I-AR85-CO01 Federal Permit No. KS0084905

Legal: NW1/4, S21, T21S, R8W, Rice County

Facility Description: The proposed action is to issue a new permit for operation of an existing wastewater treatment facility to treat primarily noncontact cooling water. This is a standby electrical generating station used for peaking and emergency power. City well water is used for a once through, noncontact cooling process and discharged. This facility typically operates from June 15 through September 15. Monthly monitoring of total residual chlorine and temperature is required. The permit requirements are pursuant to the Kansas Surface Water Quality Standards, K.A.R. 28-16-28(b-f), and Federal Surface Water Criteria, and are water-quality based.

Public Notice No. KS-ND-04-009/010

Legal

Name and Address of Applicant

of Applicant
Burdick Meat Market and
Locker
P.O. Box 126

Location SE¹/₄, S23, T17S, R5E, Morris County Type of Discharge

Nonoverflowing

Burdick, KS 66838 Kansas Permit No. I-NE71-NB03

Facility Location: 559 Main St., Burdick, KS 66838

Facility Description: The proposed action is to reissue an existing permit for operation of the existing wastewater treatment facility. This facility is engaged in a small meat packing operation. The wastewater from slaughtering and washing is directed through a 500-gallon concrete septic tank to a cone-cell waste stabilization/evaporation pond. Wastewater from the stabilization lagoon is irrigated on the facility owned farm land. In addition, one residence and the slaughter shed roof drain also are connected to the stabilization lagoon. Blood and paunch manure are collected and sent to National By-Products weekly. Discharge of wastewater from this treatment facility to surface waters of the state of Kansas is prohibited by this permit.

Name and Address of Applicant Harvest Brands, Inc. P.O. Box 46 Legal Location NE¹/₄, SE¹/₄, SW¹/₄, Type of
Discharge
Nonoverflowing

S6, T31S, R25E, Crawford County

Pittsburg, KS 667962 Crawford Cour

Kansas Permit No. I-NE57-NP01

Facility Location: 1057 S. 69 Hwy., Pittsburg, KS 66762

Facility Description: The proposed action is to reissue an existing permit for operation of the existing wastewater treatment facility. This facility produces mineral blocks and bagged animal feed supplement containing mill feed, salt, fat and molasses. Waste streams containing sanitary sewage, truck wash water, groundwater seepage, laboratory test water and stormwater runoff are directed to a lift station. Washdown and cleanup waste from the production area and boiler blowdown gravity flows into a one-cell aerated pond for pretreatment prior to being directed to the lift station. The lift station discharges to the city of Pittsburg sanitary sewer. The sludge, mainly consisting of decomposing ground grain, accumulates considerably in the pond requiring periodic desludging and disposal. Discharge of wastewater from this treatment facility to surface waters of the state of Kansas is prohibited by this permit.

Persons wishing to comment on or object to the draft permits and/or permit applications must submit their comments in writing to the Kansas Department of Health and Environment if they wish to have the comments or objections considered in the decision making process. Comments or objections should be submitted to the attention of April Romero for agricultural permits or applications, or to the permit clerk for all other permits, at the Kansas Department of Health and Environment, Division of Environment, Bureau of Water, 1000 S.W. Jackson, Suite 420, Topeka, 66612-1367.

All comments regarding the draft permit or application notice postmarked or received on or before May 15 will be considered in the formulation of final determinations regarding this public notice. Please refer to the appropriate Kansas permit number (KS-AG-04-107/117, KS-04-061/066, KS-ND-04-009/010) and name of applicant/application as listed when preparing comments.

If no objections are received during the public notice period regarding any proposed permit, the Secretary of Health and Environment will issue the final determination regarding issuance or denial of the proposed permit. If response to this notice indicates significant public interest, a public hearing may be held in conformance with K.A.R. 28-16-61 (28-46-21 for UIC). Media coordination for publication and/or announcement of the public notice or public hearing is handled by the Kansas Department of Health and Environment.

For agricultural permits and applications, a copy of the permit application, supporting documentation and a KDHE-developed fact sheet, if appropriate, is available for review at the appropriate district office:

Northwest District Office, 2301 E. 13th, Hays, 67601-2651, (785) 625-5664

North Central District Office, 2501 Market Place, Salina, 67401-7699, (785) 827-9639

Northeast District Office, 800 W. 24th, Lawrence, 66046-4417, (785) 842-4600

Southwest District Office, 302 W. McArtor Road, Dodge City, 67801-6098, (620) 225-0596

South Central District Office, 130 S. Market, 6th Floor, Wichita, 67202-3802, (316) 337-6020

Southeast District Office, 1500 W. 7th, Chanute, 66720, (620) 431-2390

Application information and components of plans and specifications for all new facilities and for expansions of existing swine facilities may be reviewed on the Internet at http://www.kdhe.state.ks.us/feedlots.

For all other proposed permits, the draft permit(s), including proposed effluent limitations and special conditions, fact sheets as appropriate, comments received and other information, are on file and may be inspected at the offices of the Kansas Department of Health and Environment, Bureau of Water.

Division of Environment offices are open from 8 a.m. to 5 p.m. Monday through Friday, excluding holidays. These documents are available upon request at the copying cost assessed by KDHE. Additional copies of this public notice also may be obtained at the Division of Environment.

Roderick L. Bremby Secretary of Health and Environment

Board of Adult Care Home Administrators

Notice of Meetings

The Complaint Investigatory Committee of the Board of Adult Care Home Administrators will meet at 11 a.m. Friday, June 4, in Classroom D of the Kansas National Education Association (KNEA) Building, 715 S.W. 10th Ave., Topeka. The regular quarterly meeting of the board will follow at 1 p.m.

Marla Rhoden, Director Health Occupations Credentialing

Doc. No. 030570

State of Kansas

Department of Transportation

Request for Comments

The Kansas Department of Transportation requests comments on the amendment of the Statewide Transportation Improvement Program (STIP) for fiscal years 2004-2006 by adding the following projects:

Project K-9654-01—Bridge replacement, K-57 over Eagle Creek 5.99 miles north of Lyon-Greenwood county line, Lyon County

Project K-9658-01—Bridge replacement, K-4 over Hobbs Creek drainage .23 mile east of Dickinson-Saline county line, Dickinson County

Project K-9659-01—Bridge replacements, K-4 over Parkers Creek and Parkers Creek drainage 7.12 and 7.32 miles northeast of Jct. K-149; K-4 over Lands Creek drainage 10.58 miles northeast of Jct. K-149; and K-4 over Lands Creek drainage .30 mile east of West Jct. K-57, Morris County

Project K-9660-01—Bridge replacement, K-23 over Buffalo Creek drainage 5.89 miles east of South Jct. K-14, Jewell County

Project K-9661-01—Bridge replacements, K-156 over Sawmill Creek 5.99 and 7.59 miles east of Pawnee-Hodgeman county line, Pawnee County

Project RR-0218-40—Kansas and Oklahoma Railroad line rehabilitation, milepost 539.3 at Carvel to milepost 590.0 at Coats, Kingman, Barber and Pratt counties

The amendment of the STIP requires a 30-day public comment period. To receive more information on any of these projects or to make comments on the STIP amendment, contact the Kansas Department of Transportation, Office of Engineering Support, 7th Floor, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612-1568, (785) 296-7916, fax (785) 296-0723.

This information is available in alternative accessible formats. To obtain an alternative format, contact the KDOT Bureau of Transportation Information, (785) 296-3585 (Voice/TTY).

The comment period regarding the STIP amendment will conclude May 17.

Deb Miller Secretary of Transportation

Doc. No. 030576

State of Kansas

Department of Transportation

Notice to Consulting Engineers

The Kansas Department of Transportation is seeking qualified consulting engineering firms for the project listed below. A response may be submitted by e-mail to neil@ksdot.org, or seven signed copies of the response can be mailed to Neil Rusch, P.E., Assistant to the Director, Division of Engineering and Design, KDOT, Room 1084-West, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612-1568. Responses shall be limited to four pages. Responses must be received in Room 1084-West by 5 p.m. May 5 for the consulting engineering firm to be considered.

From the firms expressing interest, the Consultant Selection Committee will select a list of the most highly qualified (not less than three and not more than five) and invite them to attend an individual interview conference. At this time, the consulting firms can more thoroughly discuss their experience related to the type of project at hand and will be expected to discuss, in some detail, their approach to this project and the personnel to be assigned to the project. Firms not selected to be short-listed will be notified by letter.

The Consultant Negotiating Committee, appointed by the Secretary of Transportation, will conduct the discussions with the firms invited to the individual interview conferences. The committee will select the firm to perform the professional services required for completing the advertised project. After the selection of this firm, the remaining firms will be notified by letter of the outcome.

Project No. 106 K-7356-01 Statewide

The scope of services is to provide for the underwater bridge inspection, reports and sketches of the structural integrity of twenty-four (24) bridges on the Missouri River, Kansas River and Neosho River, using nondestructive or minimally-destructive test methods in conformance with the Federal Highway Administration Report No. FHWA-DP-80-1 entitled "Underwater Inspection of Bridges," dated November 1989. The underwater inspections shall not be performed until the fall of 2004, and the final reports shall be completed by July 2006. The selected firm also will provide as-needed underwater bridge inspection through 2008.

It is KDOT's policy to use the following criteria as the basis for selection of the consulting engineering firms:

- 1. Size and professional qualifications;
- 2. experience of staff;
- 3. location of firm with respect to proposed project;
- 4. work load of firm; and
- 5. firm's performance record.

Deb Miller Secretary of Transportation

Department of Revenue Division of Vehicles

Notice of Intent to Establish New Line-Makes for Existing New Motor Vehicle Dealer

Notice has been received from DaimlerChrysler, a manufacturer of Jay Wolfe Chrysler-Plymouth-Jeep Inc., Kansas Dealer #34, and Bob Hoss Dodge, Inc., Kansas Dealer #470, that DaimlerChrysler will be awarding the Chrysler and Jeep line-makes to Bob Hoss Dodge, Inc., 6640 State Ave., Kansas City, KS 66102-3097, and terminating the Chrysler and Jeep line-makes located at Jay Wolfe Chrysler-Plymouth-Jeep, Inc., 7611 State Ave., Kansas City, KS 66112.

Pursuant to K.S.A. 8-2430(a)(5), any existing new motor vehicle dealer may protest the proposed addition of the new line-makes at Bob Hoss Dodge, Inc., if that existing new motor vehicle dealer has a franchise agreement for the same line-make vehicles as that which is to be sold or offered for sale by Bob Hoss Dodge, Inc., at 6640 State Ave., Kansas City, Kansas, and provided that the existing new motor vehicle dealer is physically located such that its relevant market area, as defined in K.S.A. 8-2430(e), includes the location where the new Chrysler and Jeep dealership will be located.

Pursuant to K.S.A. 8-2430(a), any petition or complaint by any dealer with standing to protest must be filed with the Director of Vehicles within 30 days of this notice. Such petitions or complaints must be directed to the Kansas Department of Revenue, Director of Motor Vehicles, 1st Floor, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612.

Carmen Alldritt Director of Motor Vehicles

Doc. No. 030563

State of Kansas

Department of Revenue Division of Vehicles

Notice of Intent to Relocate Established Dealer and New Line-Makes

Notice has been received from DaimlerChrysler, a manufacturer of Jay Wolfe Chrysler-Plymouth-Jeep Inc., Kansas Dealer #34, and Bob Hoss Dodge, Inc., Kansas Dealer #470, that DaimlerChrysler will be relocating the Chrysler, Jeep and Dodge line-makes to a new location at 9901 State Ave., Kansas City, KS 66111. The proposed completion of the site's construction will take approximately two years. The vehicle dealer-operators will be Bob Hoss Dodge, Inc., and the principal investors are Jeffrey A. Hoss, Joyce D. Hoss and Richard S. Hoss.

Pursuant to K.S.A. 8-2430(a)(5), any existing new motor vehicle dealer may protest the proposed relocation of the new line-makes at Bob Hoss Dodge, Inc., if that existing new motor vehicle dealer has a franchise agreement for the same line-make vehicles as that which is to be sold or offered for sale by Bob Hoss Dodge, Inc., at 9901 State Ave., Kansas City, Kansas, and provided that the existing new motor vehicle dealer is physically located such that

its relevant market area, as defined in K.S.A. 8-2430(e), includes the location where the new Chrysler, Jeep and Dodge dealership will be located.

Pursuant to K.S.A. 8-2430(a), any petition or complaint by any dealer with standing to protest must be filed with the Director of Vehicles within 30 days of this notice. Such petitions or complaints must be directed to the Kansas Department of Revenue, Director of Motor Vehicles, 1st Floor, Docking State Office Building, 915 S.W. Harrison, Topeka, 66612.

> Carmen Alldritt Director of Motor Vehicles

Doc. No. 030564

State of Kansas

Historic Sites Board of Review

Notice of Meeting

The Kansas Historic Sites Board of Review will meet at 9 a.m. Saturday, May 8, in classrooms A and B in the Kansas Museum of History on the grounds of the Kansas History Center, 6425 S.W. 6th Ave., Topeka. Recommendations for the 2004 Heritage Trust Fund grant monies will be presented to the board for its consideration. The board also will evaluate the following properties for the National Register of Historic Places and/or the Register of Historic Kansas Places:

- Hancock (12th St.) Historic District, Lawrence, Douglas County
- National Guard Armories of Kansas Multiple Property Submission
- Hiawatha National Guard Armory, 108 N. First St., Hiawatha, Brown County
- Kingman National Guard Armory, 111 S. Main St., Kingman, Kingman County
- Harper Fountain, Intersection of Main St. and Central Ave., Harper, Harper County
- Porter Hotel, 209 E. Main, Beloit, Mitchell County
- Barbeau House, 210 E. Washington Ave., Lenora, Norton County
- McFarlane-Wareham House, 1906 Leavenworth, Manhattan, Riley County
- Dr. Charles E. Bowers House, 1004 N. Market, Wichita, Sedgwick County
- Mary Seaman Ennis House, 202 W. 13th, Goodland, Sherman County

The Kansas State Historical Society welcomes individuals with disabilities to participate in its activities. If special accommodations are needed, contact Faye Johnson at the Cultural Resources Division, Kansas State Historical Society, 6425 S.W. 6th Ave., Topeka, 66615-1099, (785) 272-8681, ext. 240, by April 30 to discuss the nature of the disability and what the Kansas State Historical Society may do to ensure participation in the activity.

Terry W. Marmet Interim Executive Director

Department of Revenue

Notice of Available Publications

Listed below are all the Private Letter Rulings, Opinion Letters, Final Written Determinations, Revenue Rulings, Memorandums, Property Valuation Division Directives, Q&As, Information Guides and Notices published by the Department of Revenue for March 2004. Copies may be obtained by accessing the Policy Information Library located on the Internet at www.ksrevenue.org or by calling the Office of Policy and Research at (785) 296-3081.

Private Letter Rulings

P-2004-003 Collection of sales tax on membership

wellness fees.

P-2004-004 Motor vehicles sold and delivered in Kansas

to a bona fide resident of another state.

Opinion Letters

O-2004-002 Sanitizing process performed with steam at

slaughterhouses, meat packing plants, and

other food processors.

O-2004-003 Taxation of utility services in Kansas.

Final Written Determinations

WFD-P-2003-1 Project Exemption Request for the construc-

tion of a new facility to be used for medical business consisting of optometry and ophthalmology including eye exams, screening,

eye surgery and laser surgery.

Revenue Rulings

19-2004-1 Application of Kansas retailers' sales and

compensating (use) tax to sales and delivery

of modular homes in Kansas.

19-2004-2 Entitlement to refunds for an interstate motor

fule user's idle time.

Notices

No New Publications

Memorandums

Vehicles Violation of Age Restricted Driver's License

Property Valuation Division Directives

02-04 Special Assessments

03-41 Real Estate Sales Validation Ouestionnaires;

Filing Requirements (to replace Directive 92-

016 and 94-028)

Q&As

Motor Vehicle Q & A on motor fuel user idle time refunds.

Fuel Tax

Information Guides

KS-1526 Sales and Use Tax for Motor Vehicle

Transactions

Joan Wagnon Secretary of Revenue

Doc. No. 030557

State of Kansas

Pooled Money Investment Board

Notice of Investment Rates

The following rates are published in accordance with K.S.A. 75-4210. These rates and their uses are defined in K.S.A. 12-1675(b)(c)(d), 75-4201(l) and 75-4209(a)(1)(B).

Effective 4-12-04 through 4-18-04

Term	Rate
1-89 days	1.01%
3 months	0.91%
6 months	1.04%
1 year	1.26%
18 months	1.58%
2 years	1.85%

Derl S. Treff Director of Investments

Doc. No. 030555

State of Kansas

Department of Administration Division of Facilities Management

Notice of Hearing on Proposed Administrative Regulations

A public hearing will be conducted at 10 a.m. Tuesday, June 15, in Room 108, Landon State Office Building, 900 S.W. Jackson, Topeka, to consider the adoption of proposed rules and regulations of the Department of Administration, Division of Facilities Management.

This 60-day notice of the public hearing shall constitute a public comment period for the purpose of receiving written public comments on the proposed rules and regulations. All interested parties may submit written comments prior to the hearing to the Secretary of Administration, 1000 S.W. Jackson, Suite 500, Topeka, 66612. All interested parties will be given a reasonable opportunity to present their views orally on the adoption of the proposed regulations during the hearing. In order to give all parties an opportunity to present their views, it may be necessary to request that each participant limit any oral presentation to five minutes.

Any individual with a disability may request accommodation in order to participate in the public hearing and may request the proposed regulations and economic impact statements in an accessible format. Requests for accommodation should be made at least five working days in advance of the hearing by contacting Faith Loretto at (785) 296-6006 or TTY 1-800-766-3777. The north entrance to the Landon State Office Building is accessible. Handicapped parking is located at the south end of building, across the street from the north entrance to the building, and on Ninth Street just around the corner from the north entrance.

Article 45 of the Department of Administration regulations establishes the conditions under which motor vehicles are authorized to park in state-owned and state-operated parking lots and garages in Shawnee County, other than parking on the Statehouse grounds. Amend-

ments to five of these regulations are proposed on a permanent basis. Summaries of the proposed regulations and their economic impact follow:

The proposed amendments to **K.A.R. 1-45-18**, **Definitions and application of regulations**, would amend the definition of "person" and add a definition of the term "visitor." The definition of "person" would be limited to the individual, partnership, corporation, association or governmental body to whom the motor vehicle is registered. This amendment is consistent with the way in which the term "person" is used elsewhere in Article 45; "person" is used only in the context of establishing responsibility for violations of the regulations in Article 45.

The new definition would identify as a "visitor" any person who is not eligible to enter into a parking contract with the Department of Administration for the parking lot in which that person's vehicle is parked.

The proposed amendments to K.A.R. 1-45-19, Application for a parking contract and issuance of a parking permit, would clarify the Secretary of Administration's authority to determine the form and number of parking permits that are issued for each parking contract. Two other amendments clarify the scope of the secretary's discretion with respect to issuing parking contracts to state agencies and temporary parking permits.

The proposed amendments to **K.A.R. 1-45-20**, **Parking permit required**, would delete the word "person" because it is not used in the context of responsibility for violations of the regulations in Article 45.

K.A.R. 1-45-23, Parking restrictions, identifies the locations in which vehicles are prohibited from parking. A proposed amendment would expressly prohibit vehicles from parking in a manner contrary to posted signs.

K.A.R. 1-45-24, Violations and enforcement, establishes the administrative fines for violations of any of the regulations in Article 45 and a process for appeal of those fines. Several amendments to this regulation are proposed. First, the administrative fines are reduced from \$15 to \$3 for a first violation, from \$25 to \$10 for a second violation, and from \$50 to \$25 for a third violation. In addition, vehicles would not be subject to being mechanically immobilized for the third violation. Instead, for each violation after the third violation, the vehicle would be subject to being mechanically immobilized or to removal. A \$100 fine that can be imposed under the existing regulation for the fourth and subsequent violations would be eliminated.

A second proposed amendment would add an administrative fee of \$25 when an administrative fine is not paid within 90 days of the date on which the citation was issued or, if the person submits an appeal, within 90 days of the date on which the hearing officer affirms the fine. Further amendments would provide for the appeals to be heard by a hearing officer rather than a three-person appeals committee. In addition, language would be added stipulating that the decision of the hearing officer is considered a final agency action, which may be appealed to district court under K.S.A. 77-601 *et seq*.

A final proposed amendment to K.A.R. 1-45-24 would replace the word "person" with the word "individual" in subsection (d) in order to limit the use of the term "per-

son" to situations involving responsibility for violations of the parking regulations.

In general, the proposed amendments simply clarify and restate existing policies and practices under these regulations. Therefore, no economic impact on the Department of Administration, individuals and entities parking in the parking lots and garage subject to these regulations, or the general public, is expected as a result of the amendments, except as noted below.

The revised administrative fine structure may reduce slightly the revenues deposited in the state general fund. Since January 1, 2003, 1,871 tickets have been issued. Of those tickets, 829 have been paid (with revenues from fines totaling \$13,588), 629 remain unpaid (with \$12,560 in unpaid fines), and 413 have been either overturned on appeal or voided. Therefore, if it is assumed that 80 percent of tickets issued are for a first violation, 15 percent of tickets are for a second violation, 4 percent of tickets are for third violations, and 1 percent are for four or more violations, and that 1,458 tickets are issued each year, the fines assessed would be \$7,228—a reduction of almost \$20,000.

However, the proposed amendments to the administrative fine structure would reduce the overall cost for the people who receive fines for parking violations and might substantially reduce the costs to the Department of Administration with respect to its administration and enforcement of the parking program under K.S.A. 75-4508. The Department of Administration believes that reducing the amount of each fine may result in a higher rate of payment of parking fines and fewer appeals of parking tickets. Since January 1, 2003, 351 appeals have been filed. However, lower fines are expected to reduce the number of appeals and, therefore, to significantly reduce the administrative costs of the appeals process.

The addition of a \$25 administrative fee for administrative fines not paid within 90 days also may improve the collection rate and offset some of the reduction in revenues resulting from the change in the administrative fine structure. This administrative fine both recognizes the additional staff time required for collection efforts and makes it possible to increase the use of an effective collection tool, the debt setoff program.

The proposed use of a hearing officer in place of a three-person appeals committee also is expected to have a positive economic impact on the Department of Administration, without any substantive reduction in the due process rights afforded to individuals appealing parking tickets. In light of the reduced fine structure, using a hearing officer would be a more efficient and appropriate use of the agency's staff resources.

Copies of the proposed regulations and the associated economic impact statements may be obtained by contacting the Division of Facilities Management, Suite 600, Landon State Office Building, 900 S.W. Jackson Ave., Topeka, 66612, (785) 296-5191, or may be accessed under "Parking" at http://da.state.ks.us/Gov/gov.htm.

D. Keith Meyers Director, Division of Facilities Management

Secretary of State

Notice of Corporations Forfeited

In accordance with K.S.A. 17-7510, the articles of incorporation of the following corporations organized under the laws of Kansas and the authority of the following foreign corporations authorized to do business in Kansas were forfeited during the month of March 2004 for failure to timely file an annual report and pay the annual franchise tax as required by the Kansas general corporation

Domestic Corporations

A-1 Auto & Metal Salvage Inc., Wathena, KS.

Adoption With Wisdom and Honesty, Inc., Hutchinson, KS. Allen County Community College Endowment Association, Iola, KS.

Big Creek Well Service, Inc., Zurich, KS.

Black Sabbath Motorcycle Club, Wichita, KS.

Blue Valley High School Parent Teacher Organization, Inc., Stilwell, KS.

Blue Valley West High School Parent Teacher Organization, Inc. of Johnson County, Kansas, Overland Park, KS.

Brown, Inc., Sublette, KS.

Builders Realty, Inc., Olathe, KS.

Cheyenne Country, Inc., Ottawa, KS.

Creative Arts Therapies, Inc., Arma, KS.

Dalton's Flowers, Inc., Overland Park, KS.

DeHoff Tool & Mfg. Co., Inc., Kansas City, KS.

Engel Farms Corporation, Liberal, KS.

Executive Hills Downtown, Inc., Overland Park, KS.

Exotica, Inc., Valley Falls, KS.

Flying Incorporated, Liberal, KS.

Focus on the Future, Inc., Salina, KS.

Four Winds Village School, Inc., Kechi, KS.

Franklin County Chronicle, Inc., Ottawa, KS.

Friends Together United Methodist Preschool, Emporia, KS.

Genesis XII Learning Foundation Inc. International, Wichita, KS.

Good News of Abilene, Inc., Abilene, KS.

Hannah's House Foundation, Lawrence, KS.

Happy Hearts, Inc., Atchison, KS.

High Plains Electric, Inc., Hays, KS.

Hommon & Sons, Inc., Smith Center, KS.

Humboldt Lions Club, Humboldt, KS.

Independence Wrestling Club Boosters, Inc.,

Independence, KS. Inman Communications, Inc., Windom, KS.

J-F-K Enterprises, Inc., Kansas City, KS.

Jayhawk Breakfast Rotary Club, Inc., Lawrence KS.

Johnson County Bar Association, Overland Park, KS.

Kansas United Soccer Club, Topeka, KS.

Kansas University Internal Medicine Foundation, Kansas City, KS.

Koelling Farms, Inc., Hays, KS.

Lawrence Habitat for Humanity, Inc., Lawrence, KS.

Lions Club of Moundridge, Moundridge, KS.

Machine Design & Manufacturing, Inc., Wetmore, KS.

Maharishi Vedic University, Inc. (Kansas), Boone, NC.

Mountain-Plains Business Education Association, College Station, TX.

Nation's Building Service, Inc., Overland Park, KS.

National Silver Haired Congress, Inc., Olathe, KS.

Osborne Church of the Nazarene, Inc., Osborne, KS.

Overland Trail Elementary School Parent Teacher Association, Overland Park, KS.

Oxford House Community Support, Inc., Wichita, KS.

Parents in Control Education Foundation, Olathe, KS.

Pawnee Comprehensive Mental Health Center Endowment Association, Inc., Manhattan, KS.

PMTI, Inc., Shawnee, KS.

Precision Installations, Inc., Kansas City, KS.

Presidential Highfields Homeowners Association, Inc., Kansas City, KS.

Prince Hall Grand Court, Heroines of Jericho, Kansas Jurisdiction, Junction City, KS.

RDC Feeders, Inc., Brewster, KS.

Rotary Club of Overland Park South, Kansas U.S.A., Overland Park, KS.

Salem Valley Christian School, Inc., Copeland, KS.

Severy Church of the Nazarene Inc., Severy, KS.

Sheridan County Amusement Company, Hoxie, KS.

Shiloh Missionary Baptist Church, Inc., Wichita, KS.

Silvers Veneer & Lumber Co., Cameron, MO.

Smith County Arts Council, Incorporated, Smith Center, KS.

Smokey River Farms, Inc., Gove, KS.

Solace: Solutions for Single Mothers, Incorporated, Wichita, KS.

Stage One, Inc., Wichita, KS.

Sunflower Polka Club, Brownell, KS.

Swan's Formal Wear, Inc., Topeka, KS.

Teach, Inc., Topeka, KS.

The Amazing 100 Miles Tourism Coalition, Wilson, KS.

The Dive Shop, Inc., Merriam, KS.

The First Christian Church of Lakin, Kansas, Lakin, KS.

The First Church of the Nazarene, Augusta, Kansas, Augusta, KS.

The K.U. Housing Corporation of Delta Gamma Alumnae, Inc., Lawrence, KS.

The Lions Club of Park City, Park City, KS.

The Phi Delta Chi House Association, Emporia, KS.

The Sportsman Bar and Deli, L.L.C., Marysville, KS.

The Voiture Locale Number 1510 of La Societe Des 40

Hommes et 8 Chevaux, Shawnee Mission, KS.

Topeka Sunflower Lions Club, Inc., Topeka, KS.

Updike Paving Corporation, Stilwell, KS.

Valley Park Elementary School Parent-Teacher Organization, Inc., Overland Park, KS.

Weybridge - Highland, L.L.C., Chicago, IL.

Wichita Professional Communicators, Inc., Wichita, KS.

Wichita Wagonmasters, Inc., Wichita, KS.

Willis Nursery Company, Inc., Ottawa, KS.

World Wide Trading, Inc., Overland Park, KS.

Foreign Corporations

Altman Energy, Inc., Tulsa, OK.

Andersen LLP, Chicago, IL.

Arthur Andersen LLP, Chicago, IL.

Buffalo Gap Instrumentation and Electrical Co., Inc., Buffalo Gap, TX.

Community Solutions, Inc., Hartford, CT.

Cricket Communications, Inc., San Diego, CA.

Cricket Kansas Property Company, San Diego, CA.

EMCON/OWT, Inc., Baton Rouge, LA.

Hilltop Enterprises, Inc., Wellsville, KS.

Jennifer Management III, Ltd. Woodbury, NY.

Kansas City Teaching Fellows, Kansas City, KS.

Kinseth Hotel Corporation, North Liberty, IA.

Kodak Polychrome Graphics LLC, Norwalk, CT.

Lafayette Lifeplans of Hiawatha, Inc., Augusta, GA.

Ledcor Construction, Inc., Mercer Island, WA.

Martin Luther Homes West, Inc., Lincoln, NE. Mercy Housing, Inc., Denver, CO. Mercy Oakwood Gardens, Omaha, NE. Mercy Services Corporation, Denver, CO. Mothers Against Drunk Driving, Irving, TX. National Parkinson Foundation Inc., Miami, FL. New Cargo Furniture, Inc., Fort Worth, TX. Our Lady of the Most Holy Trinity, Robstown, TX. Pheasants Forever, Inc., St. Paul, MN. Pier 1 Imports (U.S.), Inc., Fort Worth, TX. S.S.&L. Oil & Gas Properties, Inc., Edmond, OK. Safety-Kleen Systems, Inc., Columbia, SC. Salina VOA Elderly Housing, Inc., Alexandria, VA. Shaw Constructors, Inc., Baton Rouge, LA. Stream International Inc., Canton, MA. U.S. Telecom Long Distance, Inc., Las Vegas, NV. Veenker Resources, Inc., Oklahoma City, OK.

> Ron Thornburgh Secretary of State

Doc. No. 030562

State of Kansas

Attorney General

Opinion 2004-3

State Departments; Public Officers and Employees—Kansas Tort Claims Act—Liability of Governmental Entities for Damages Caused by Employee Acts or Omissions, When; Exceptions from Liability. Jim Hays, Superintendent, Kansas Veterans' Home, Winfield, February 17, 2004.

Under the circumstances presented, a physician's assistant hired by and working for the Kansas Veterans' Home is an "employee" of the State of Kansas for purposes of the Kansas Tort Claims Act. Cited herein: K.S.A. 75-6102; 75-6104. RJD

Opinion 2004-4

State Departments; Public Officers and Employees—Civil Service—Purpose of Kansas Civil Service Act; Veterans' Preference.

Soldiers, Sailors and Patriotic Emblems—Veterans' Preference; Public Service—Preference in Appointments and Employments. Amy Bertrand, Chief Attorney, Department of Administration, February 17, 2004.

K.S.A. 75-2955 would supersede K.S.A. 73-201 with regard to Kansas Civil Service Act hiring in a situation where both statutes could not be given full sway, because K.S.A. 75-2955 is the newer legislative pronouncement. In situations where two statutes dealing with the same subject matter can both be followed without one limiting the other, agencies must comply with both statutes. Cited herein: K.S.A. 73-201; 75-2955. RJD

Opinion 2004-5

Schools—State Scholarship Program for Students at Institutions of Post Secondary Education—Payment of State Scholarships; Constitutionality of Program.

State Boards, Commissions and Authorities—Higher Education Coordination; State Board of Regents—Kansas Comprehensive Grant Program; Payment of Grants;

Constitutionality of Program. Representative Clay Aurand, 109th District, Courtland, March 19, 2004.

Section 7 of the Kansas Bill of Rights, which prohibits the compelled support of religious worship, is not more restrictive than the First Amendment to the United States Constitution when analyzing government aid to students who attend private sectarian schools and post secondary educational institutions. Therefore, when examining challenges under Section 7, the appropriate standard of review is Lemon v. Kurtzman, $4\overline{03}$ U.S. 602 (1973), and its progeny. Applying this standard, the State Scholarship Program and the Kansas Comprehensive Grant Program do not, on their face, violate Section 7 of the Kansas Bill of Rights. Moreover, Article 6, Section 6(c) of the Kansas Constitution, which prohibits control of educational funds by religious sects, does not prohibit government aid to students attending sectarian schools and post secondary educational institutions where the aid is for the benefit of the student, not the sectarian institution. As the State Scholarship and Kansas Comprehensive Grant Programs award scholarships/grants to qualified students who use the funds to purchase educational services at either a public or private sectarian or secular college or university, neither program facially violates Article 6, Section 6(c). To the extent that the conclusions in Attorney General Opinion No. 2000-32 differ, they are hereby withdrawn. Cited herein: K.S.A. 72-6810; 72-6811; 72-6813; 74-32,120; 72-32,121; 72-32,123; Kan. Const., Bill of Rights, § 7; Art. 6, § 6; U.S. Const., Amend. 1. MF

Opinion 2004-6

Cities and Municipalities—Buildings, Structures and Grounds; Development and Redevelopment of Areas In and Around Cities—Purpose of Act; Issuance of Special Obligation Bonds and Full Faith and Credit Tax Increment Bonds; Definitions; Redevelopment Project Costs; Authority to Include Costs Incurred In Connection With Construction of Buildings or Other Structures. Senator Karin Brownlee, 23rd District, Olathe, March 30, 2004.

Monies raised through bonds issued pursuant to K.S.A. 12-1770 et seg. (STAR bonds) may be used to pay the costs of constructing a building or structure that is included in a redevelopment district plan, provided the building or structure is not to be either owned by or leased to a developer. However, if the building or structure includes an auto race track facility or is in a redevelopment district that includes some or all of the land and buildings formerly comprising a state mental facility that was closed pursuant to state law, the costs of constructing the building or structure are deemed to be redevelopment project costs and, as such, may be paid by STAR bonds even though the building or structure is to be owned by or leased to a developer. Cited herein: K.S.A. 12-1770; K.S.A. 2003 Supp. 12-1770a; K.S.A. 12-1771; 12-1772; 12-1773; K.S.A. 2003 Supp. 12-1774. RDS

> Phill Kline Attorney General

City of Lawrence, Kansas \$10,115,000* General Obligation Temporary Notes Series 2004-I \$3,520,000* General Obligation Bonds

Series 2004-A
(General obligations payable from unlimited ad valorem taxes)

Bids

Subject to the notice of sale and preliminary official statement, sealed, facsimile and electronic bids for the purchase of General Obligation Temporary Notes, Series 2004-I, and General Obligation Bonds, Series 2004-A, of the city of Lawrence, Kansas, will be received (1) in the case of sealed bids and facsimile bids, by the city's finance director at the address and facsimile number hereinafter set forth, and (2) in the case of electronic bids, through the PARITY electronic bid submission system, until 11 a.m. local time for the notes and until 11:30 a.m. local time for the bonds, on Tuesday, April 27, 2004, at which time such bids will be publicly read. No bid will be considered of (a) less than 99.50 percent of the principal amount of the notes and accrued interest to the date of delivery, and (b) less than 100 percent of the principal amount of the bonds and accrued interest to the date of delivery.

Note Details

The notes will consist of fully registered notes in the denomination of \$5,000 or any integral multiple thereof. Notes shall initially be registered in the name of Cede & Co., as nominee of the Depository Trust Company, New York, New York, to which payment of principal of and interest on the notes will be made. Individual purchases of notes will be made in book-entry form only. Purchasers will not receive certificates representing their interest in notes purchased. The notes will be dated May 15, 2004. The notes will become due on October 1, 2004. Notes will bear interest from the dated date at the rate determined when the notes are sold. Interest on the notes will be payable at maturity on October 1, 2004. The city treasurer will be the paying agent and note registrar for the notes.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. The bonds shall initially be registered in the name of Cede & Co., as nominee of the Depository Trust Company, New York, New York, to which payment of principal of and interest on the bonds will be made. Individual purchases of bonds will be made in book-entry form only. Purchasers will not receive certificates representing their interest in bonds purchased. The bonds will be dated May 15, 2004, and will become due on the stated maturities as follows, subject to redemption as set forth in the preliminary official statement:

Maturity	Principal Amount*
09/01/04	\$320,000
09/01/05	265,000
09/01/06	265,000
09/01/07	270,000
09/01/08	275,000
09/01/09	280,000
09/01/10	290,000
09/01/11	295,000
09/01/12	305,000
09/01/13	310,000
09/01/14	315,000
09/01/15	330,000

The bonds will bear interest from the dated date at rates to be determined when the bonds are sold, which interest will be payable semiannually on March 1 and September 1 in each year, beginning September 1, 2004.

The Kansas State Treasurer, Topeka, Kansas, will be the paying agent and bond registrar for the bonds.

Redemption Prior to Maturity

The bonds will be subject to optional redemption prior to maturity as provided in the notice of sale and preliminary official statement.

Good Faith Deposit

A good faith deposit is not required for bids on the notes. Each bid for the bonds shall be accompanied by a good faith cashier's or certified check or financial surety bond in the amount of 2 percent of the principal amount of the bonds.

Delivery

The city will pay for the preparation of the notes and the bonds. The city will deliver the notes and the bonds in book-entry form only through the facilities of the Depository Trust Company, New York, New York, on or about May 27, 2004.

Assessed Valuation and Indebtedness

The equalized assessed tangible valuation for computation of bonded debt limitations is \$743,219,623. The total general obligation bonded indebtedness of the city as of the date of the bonds and notes, including the bonds and notes being sold, but excluding the temporary notes to be retired with the proceeds of the bonds and the notes being sold, is \$97,110,000.

Approval of Bonds

The bonds and notes will be sold subject to the legal opinion of Gilmore & Bell, P.C., Kansas City, Missouri, bond counsel, whose approving legal opinion as to the validity of the bonds/notes will be furnished and paid for by the city and delivered to the successful bidder when the bonds/notes are delivered.

Additional Information

Additional information regarding the bonds and notes may be obtained from the city clerk or the city's director of finance, or from bond counsel, Gilmore & Bell, P.C., 2405 Grand Blvd., Suite 1100, Kansas City, MO 64108, (816) 221-1000.

Dated April 13, 2004.	2013	535,000
City of Lawrence, Kansas	2014	640,000
By A. Ed Mullins	2015	740,000
Director of Finance	2016	855,000
Lawrence City Hall	2017	975,000
6 E. éth St.	2018	1,195,000
Lawrence, KS 66044	2019	1,350,000
(785) 832-3000	2020	1,520,000
Fax (785) 832-3231 or 832-3405	2021	1,705,000
* Preliminary; subject to change.	2022	1,900,000
Doc. No. 030571	2023	2,120,000

(Published in the Kansas Register April 15, 2004.)

Summary Notice of Bond Sale Unified School District No. 232 Johnson County, Kansas (De Soto) \$15,000,000 **General Obligation School Building Bonds** Series 2004

> (General obligations payable from unlimited ad valorem taxes)

Bids

Subject to the notice of sale and preliminary official statement, bids will be received by the clerk of Unified School District No. 232, Johnson County, Kansas (De Soto), on behalf of the Board of Education of the district at the district office, 35200 W. 91st Street, De Soto, KS 66018, on Tuesday, April 27, 2004, for the purchase of \$15,000,000 principal amount of General Obligation School Building Bonds, Series 2004. Bids for the bonds will be received until 4:30 p.m. local time on that day. Bids will be received (1) in the case of sealed and facsimile bids, by the clerk at the address and fax number hereafter set forth, and (2) in the case of electronic bids, through PARITY electronic bid submission system. The district and the district's financial advisor shall not be responsible for any failure, misdirection, delay or error in the means of transmission selected by the bidder. No bid will be considered of less than 100 percent of the principal amount of the bonds and accrued interest to the date of delivery, and no supplemental interest payments will be considered.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof. Bonds shall initially be registered in the name of Cede & Co., as nominee of the Depository Trust Company, New York, New York, to which payments of principal of and interest on the bonds will be made. Individual purchases of bonds will be made in book-entry form only. Purchasers will not receive certificates representing their interest in bonds purchased. The bonds will be dated May 1, 2004, and will become due annually on September 1, beginning September 1, 2008, in the years as follows:

Maturity	Principal
September 1	Amount
2008	\$160,000
2009	215,000
2010	285,000
2011	360,000
2012	445,000

The bonds will bear interest from the date thereof at rates to be determined when the bonds are sold, and interest will be payable semiannually on March 1 and September 1 in each year, beginning March 1, 2005. The Kansas State Treasurer, Topeka, Kansas, will be the paying agent and bond registrar for the bonds.

Redemption

The bonds will be subject to optional and mandatory redemption prior to maturity as set forth in the notice of sale and preliminary official statement.

Good Faith Deposit

Each bid for the bonds shall be accompanied by a good faith check in the form of a cashier's or certified check or a financial surety bond in the amount of 2 percent of the principal amount of the bonds.

Delivery

The district will pay for preparing the bonds. The district will deliver the bonds in book-entry form only through the facilities of the Depository Trust Company, New York, New York, on or after June 3, 2004.

Assessed Valuation and Indebtedness

The equalized assessed tangible valuation for computation of bonded debt limitations is \$287,219,254. The total general obligation indebtedness of the district as of the date of the bonds, including the bonds being sold and excluding the temporary notes to be retired, is \$115,315,000.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Kansas City, Missouri, bond counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the district, printed on the bonds and delivered to the successful bidder when the bonds are delivered.

Additional Information

Additional information regarding the bonds may be obtained from Ken Larsen, treasurer of the district, (913) 583-8300, or from the district's financial advisor, George K. Baum & Company, Attention: Steve Shogren, (316) 264-9351.

Dated April 5, 2004.

Unified School District No. 232 Johnson County, Kansas (De Soto) Wendy Denham Clerk, Board of Education Fax (913) 583-8303

Summary Notice of Bond Sale City of Plains, Kansas \$111,000

General Obligation Bonds, Series 2004

(General obligation bonds payable from unlimited ad valorem taxes)

Bids

Subject to the notice of bond sale dated April 5, 2004, written bids will be received by the clerk of the city of Plains, Kansas (the issuer), on behalf of the governing body at City Hall, P.O. Box 366, Plains, KS 67869, until 5 p.m. May 3, 2004, for the purchase of \$111,000 principal amount of General Obligation Bonds, Series 2004. No bid of less than 98 percent of the principal amount of the bonds and accrued interest thereon to the date of delivery will be considered.

Bond Details

The bonds will consist of fully registered bonds in the denomination of \$5,000 or any integral multiple thereof, except one bond in the denomination of \$1,000 (or such amount added to \$5,000 or any integral multiple thereof). The bonds will be dated June 1, 2004, and will become due on December 1 in the years as follows:

Year	Principal Amount
2005	\$11,000
2006	10,000
2007	10,000
2008	10,000
2009	10,000
2010	10,000
2011	10,000
2012	10,000
2013	15,000
2014	15,000

The bonds will bear interest from the date thereof at rates to be determined when the bonds are sold as hereinafter provided, which interest will be payable semiannually on June 1 and December 1 in each year, beginning June 1, 2005.

Optional Book-Entry-Only System

The successful bidder may elect to have the bonds registered under a book-entry-only system administered through DTC.

Paying Agent and Bond Registrar

Kansas State Treasurer, Topeka, Kansas.

Good Faith Deposit

Each bid shall be accompanied by a good faith deposit in the form of a cashier's or certified check drawn on a bank located in the United States or a qualified financial surety bond in the amount of \$2,220 (2 percent of the principal amount of the bonds).

Delivery

The issuer will pay for printing the bonds and will deliver the same properly prepared, executed and registered without cost to the successful bidder on or about June 1, 2004, to DTC for the account of the successful

bidder or at such bank or trust company in the contiguous United States as may be specified by the successful bidder, or elsewhere at the expense of the successful bidder.

Assessed Valuation and Indebtedness

The equalized assessed tangible valuation for computation of bonded debt limitations for the year 2003 is \$5,173,035. The total general obligation indebtedness of the issuer as of the date of delivery of the bonds, including the bonds being sold, is \$111,000.

Approval of Bonds

The bonds will be sold subject to the legal opinion of Gilmore & Bell, P.C., Wichita, Kansas, bond counsel, whose approving legal opinion as to the validity of the bonds will be furnished and paid for by the issuer, printed on the bonds and delivered to the successful bidder when the bonds are delivered.

Additional Information

Additional information regarding the bonds may be obtained from the clerk, (620) 563-7611, fax (620) 563-9316, email: cityofplains@swko.net; or from the financial advisor, Ranson Financial Consultants, L.L.C., 209 E. Williams, Suite 401, Wichita, KS 67202, Attention: John Haas, (316) 264-3400, fax (316) 265-5403, e-mail: jhaas@ransonfinancial.com.

Dated April 5, 2004.

City of Plains, Kansas

Doc. No. 030569

State of Kansas

Secretary of State

Certification of New State Laws

I, Ron Thornburgh, Secretary of State of the State of Kansas, do hereby certify that each of the following bills is a correct copy of the original enrolled bill now on file in my office.

Ron Thornburgh Secretary of State

(Published in the Kansas Register April 15, 2004.)

SENATE BILL No. 373

AN ACT concerning school district; relating to consolidation of districts; amending K.S.A. 72-8701 and repealing the existing section.

Be it enacted by the Legislature of the State of Kansas:

Section 1. K.S.A. 72-8701 is hereby amended to read as follows: 72-8701. In accordance with the provisions of this act the boards of education of any two (2) or more school districts are hereby authorized to discuss issues relating to consolidation of such districts and enter into agreements to form one consolidated unified school district. Such meetings may be held within the boundaries of any of the districts proposing to form the consolidated district.

Sec. 2. K.S.A. 72-8701 is hereby repealed.

Sec. 3. This act shall take effect and be in force from and after its publication in the Kansas register.

HOUSE BILL No. 2706

An ACT concerning the state finance council; voting procedures; amending K.S.A. 75- 3711 and repealing the existing section.

Be it enacted by the Legislature of the State of Kansas:

Section 1. K.S.A. 75-3711 is hereby amended to read as follows: 75-3711. (a) The governor shall:

- (1) Hear and determine appeals by any state agency from final decisions or final actions of the secretary of administration or the director of computer services.
- (2) Approve, modify and approve or reject proposed rules and regulations submitted by the secretary of administration as provided in K.S.A. 75-3706, and amendments thereto.
- (3) Make allocations to, and approve expenditures by a state agency, from any appropriations to the governor for that purpose, of funds for unanticipated and unbudgeted needs, under guidelines and limitations prescribed by K.S.A. 75-3711c, and amendments thereto, or other legislative enactment enhancing or altering K.S.A. 75-3711c, and amendments thereto.
- (4) Exercise powers and perform functions specified for the state finance council or governor by the Kansas civil service act.
- (b) (1) The chairperson and five or more other members of the state finance council shall constitute a quorum. Approval by the governor and approval by a majority vote of the legislative members of the state finance council shall govern, unless a unanimous vote is required by statute in any particular case.
- (2) Whenever a matter is to be acted on by the state finance council and a unanimous vote is required to approve the particular matter by K.S.A. 48-924, 75-3713, 75-3713b or 75-3713c, and amendments thereto, or by any other statute, each member who is unable to attend the meeting at which the matter was voted on, may vote on the motion by written absentee vote in the manner prescribed by this subsection. In any such case, an absent member may vote on the motion by (A) writing the member's signature on a copy of the resolution setting forth the matter that is the subject of the motion, writing the date and indicating the member's vote for or against adoption of the resolution, and (B) submitting the copy of the resolution bearing the absentee vote to the secretary of the state finance council either before or not more than 10 days after the date of the meeting at which the motion was voted on. The secretary of the state finance council shall maintain each copy of a resolution bearing an absentee vote as part of the minutes and records of the meeting at which the motion on the resolution was voted on. The secretary shall indicate in the minutes of the meeting the name of each member voting in writing by absentee vote and the date on which the absentee vote was submitted to the secretary. If a particular matter requiring a unanimous vote receives the affirmative vote of each member of the state finance council attending the meeting and the affirmative absentee vote pursuant to this subsection of each member not attending the meeting, then the matter shall be deemed to have received the unanimous vote of all members of the state finance council.
- (c) Whenever statutes provide for any matter to receive state finance council action, the same shall be made a matter of business before said council, if and only if the matter is characterized as a legislative delegation, and in other such cases the governor shall exercise the function specified for the state finance council by applying the guidelines and limitations of K.S.A. 75-3711c, and amendments thereto, or other legislative enactment enhancing or altering the same.
 - Sec. 2. K.S.A. 75-3711 is hereby repealed.
- Sec. 3. This act shall take effect and be in force from and after its publication in the Kansas register.

(Published in the Kansas Register April 15, 2004.)

SENATE BILL No. 426

An ACT concerning institutional licenses under the Kansas healing arts act; amending K.S.A. 65-2895 and repealing the existing section.

Be it enacted by the Legislature of the State of Kansas:

Section 1. K.S.A. 65-2895 is hereby amended to read as follows: 65-2895. (a) There is hereby created a designation of an institutional license which may be issued by the board to a person who:

- (1) Is a graduate of an accredited school of the healing arts medicine or osteopathic medicine or a school which has been in operation for not less than 15 years and the graduates of which have been licensed in another state or states which have standards similar to Kansas:
- (2) has completed at least two years in a postgraduate training program in the United States approved by the board; and
 - (3) who is employed as provided in this section.
- (b) Subject to the restrictions of this section, the institutional license shall confer upon the holder the right and privilege to practice that branch of the healing arts in which the holder of the institutional license is proficient medicine and surgery and shall obligate the holder to comply with all requirements of such license.
- (c) The practice privileges of institutional license holders are restricted as follows. The institutional license and shall be valid only during the period in which:
- (1) The holder is employed by any institution within the department of social and rehabilitation services, employed by any institution within the department of corrections or employed pursuant to a contract entered into by the department of social and rehabilitation services or the department of corrections with a third party, and only within the institution to which the holder is assigned;
- (2) the holder was issued an institutional license prior to May 8, 1997; has been employed for at least three years as described in subsection (c)(1) and is employed to provide mental health services in the employ of a Kansas licensed community mental health center, or one of its contracted affiliates, or a federal, state, county or municipal agency, or other political subdivision, or a contractor of a federal, state, county or municipal agency, or other political subdivision, or a duly chartered educational institution, or a medical care facility licensed under K.S.A. 65-425 et seq, and amendments thereto, in a psychiatric hospital licensed under K.S.A. 75-3307b and amendments thereto, or a contractor of such educational institution, medical care facility or psychiatric hospital, and whose practice, in any such employment, is limited to providing mental health services, is a part of the duties of such licensee's paid position and is performed solely on behalf of the employer; or
- (3) the holder was issued an institutional license prior to May 8, 1997, and is providing mental health services pursuant to a written protocol with a person who holds a license to practice medicine and surgery other than an institutional license has been employed for at least three years as described in subsection (c)(1) and is providing mental health services pursuant to a written protocol with a person who holds a license to practice medicine and surgery other than an institutional license.
- (b) (d) An institutional license shall be valid for a period of two years after the date of issuance and may be renewed for additional two-year periods if the applicant for renewal is eligible to obtain an institutional license under this section, has successfully completed the examination required under subsection (a)(3) of K.S.A. 65-2873 and amendments thereto meets the requirements under subsection (c) of this section, has submitted an application for renewal on a form provided by the board, has paid the renewal fee established by rules and regulations of the board of not to exceed \$500 and has submitted evidence of satisfactory completion of a program of continuing education required by the board. The board shall require each applicant for renewal of an institutional license under this section to submit evidence of satisfactory completion of a program of continuing ed-

- ucation required by the board of licensees of the branch of the healing arts in which the applicant is proficient. In addition, an applicant for renewal who is employed as described in subsection (c)(1) shall submit with the application for renewal a recommendation that the institutional license be renewed signed by the superintendent of the institution to which the institutional license holder is assigned.
- (c) Notwithstanding the provisions of subsection (b), an institutional license may be renewed once for two years if the holder was issued an institutional license prior to May 8, 1997, has successfully completed two years of postgraduate training in the United States and has submitted evidence of satisfactory completion of a program of continuing education required by the board.
- (d) (e) Nothing in this section shall prohibit any person who was issued an institutional license prior to the effective date of this act from having the institutional license reinstated by the board if the person meets the requirements for an institutional license described in subsection (a).
- (f) This section shall be a part of and supplemental to the Kansas healing arts act.
 - Sec. 2. K.S.A. 65-2895 is hereby repealed.
- Sec. 3. This act shall take effect and be in force from and after its publication in the Kansas register.

HOUSE BILL No. 2582

AN ACT creating the horsethief reservoir benefit district; providing for a governing board; prescribing powers and duties thereof; taxing and bonding authority.

Be it enacted by the Legislature of the State of Kansas:

- Section 1. (a) Sections 1 through 11, and amendments thereto, shall be known and may be cited as the horsethief reservoir benefit district act.
- (b) The powers conferred by this act are for public uses, economic development purposes or purposes for which public money may be expended.
- (c) Powers granted pursuant to this act shall be in addition to any other power provided by law.
- Sec. 2. As used in sections 1 through 11, and amendments thereto: (a) "Act" means the provisions of sections 1 through 11, and amendments thereto:
- (b) "bonds" mean special obligation bonds or special obligation notes payable from the sources described in this act, issued by the district in accordance with the provisions of this act;
- (c) "district" means the horsethief reservoir benefit district created pursuant to this act, the boundaries of which shall include all property located within the boundaries of Finney, Ford, Gray and Hodgeman counties;
- (d) "governing board" means the governing body of the horsethief reservoir benefit district created pursuant to this act;
- (e) "project" means the construction of a dam and recreation facilities within the district; and
- (f) "horsethief reservoir benefit district sales tax" means the tax authorized by this act.
- Sec. 3. There is hereby created the horsethief reservoir benefit district for the purposes provided by this act.
- Sec. 4. (a) The governing board of the horsethief reservoir benefit district shall consist of eight members, as follows:
- (1) Four members to be appointed one each by the board of county commissioners of the four counties in the district;
- (2) one member to be appointed one each by the governing body of the cities of Dodge City and Garden City;
- (3) one member appointed by the Pawnee watershed district; and
 - (4) the secretary of wildlife and parks or the secretary's designee.

- (b) The member appointed by the Pawnee watershed district shall serve as chairperson of the governing board.
- (c) The board shall meet upon call of the chairperson as necessary to carry out its duties under this act.
- (d) The initial appointment for the members appointed by Finney and Gray counties and Dodge City shall be for a term of one year. The initial appointment for the members appointed by Ford and Hodgeman counties, Garden City and the Pawnee watershed district shall be for a term of two years. For each subsequent appointment, each appointed member of the board shall be appointed for a term of two years. Each member shall continue in such position until a successor is appointed and qualified. Members shall be eligible for reappointment. Whenever a vacancy occurs in the membership of the board, a successor shall be selected to fill such vacancy in the same manner as and for the unexpired term of the member such person is succeeding.
- (e) The governing body shall have the following powers and duties: (1) Authority to impose a district wide sales tax pursuant to the provisions of this act;
- (2) authority to issue bonds pursuant to the provisions of this act; and
 - (3) authority to manage recreational facilities within the district.
- (f) The governing body shall provide that any fee schedule imposed for users of recreational facilities within the district may be set at a reduced rate or schedule for residents of any county which is a part of the district.
- Sec. 5. (a) In addition to and notwithstanding any limitations on the aggregate amount of the retailers' sales tax contained in K.S.A. 12-187 through 12-197, and amendments thereto, the district may impose a horsethief reservoir benefit district sales tax on the selling of tangible personal property at retail or rendering or furnishing services taxable pursuant to the provisions of the Kansas retailers' sales tax act, and amendments thereto, within the district for purposes of financing the project in increments of .05% and in an aggregate amount not to exceed .25% and pledge the revenue received therefrom to pay the costs of the project, the costs to manage and operate the project and to make debt service payments on any bonds issued to finance the project. Any horsethief reservoir benefit district sales tax imposed pursuant to this section shall expire no later than the maturity date of the bonds issued to finance such project or refunding bonds issued therefor.
- (b) Prior to the imposition of the horsethief reservoir benefit district sales tax, the governing board shall adopt a resolution stating its intention to levy a horsethief reservoir benefit district sales tax for the purpose of financing the project and continued management and operational expenses thereof as proposed by this act. The governing board shall give notice of the public hearing on the imposition of such horsethief reservoir benefit district sales tax. Such notice shall be published at least once a week for two consecutive weeks in the official county newspaper of each county whose boundaries are located within the district. The second notice shall be published at least seven days prior to the date of hearing. The notice shall contain the following information:
 - (1) The time and place of the hearing;
 - (2) the nature of the project;
 - (3) the estimated cost of the project;
 - (4) the proposed method of financing the project; and
- (5) the proposed amount of the horsethief reservoir benefit district sales tax to be imposed and the termination date of such horsethief reservoir benefit district sales tax.
- (c) The hearing may be adjourned from time to time. Following the hearing, the governing board may authorize the project, approve the estimated cost of the project and the method of financing of the project by adoption of the appropriate resolution. Such resolution shall be effective upon publication once in the official county newspaper of each county whose boundaries are located within the district.

- (d) If at the conclusion of the public hearing, the governing board of the district proposes to impose a horsethief reservoir benefit district sales tax, the governing board shall submit a proposition to impose such tax to the qualified electors within the district. Notice of such election shall be provided in accordance with the provisions of K.S.A. 10-120, and amendments thereto. Any such election shall be called and held in the manner provided by K.S.A. 25-431 et seq., and amendments thereto. If an election is held and the proposition is approved by a majority of the voters of the district voting at such election, the governing board, by resolution, may levy such tax. If such a resolution is adopted pursuant to this act, the horsethief reservoir benefit district sales tax shall be imposed in the district. Except as provided in this act, the tax authorized by this section shall be administered, collected and subject to provisions of K.S.A. 12-187 to 12-197, inclusive, and amendments thereto.
- (e) Upon receipt of a certified copy of the resolution authorizing the levy of the horsethief reservoir benefit district sales tax pursuant to this section, the state director of taxation shall cause such tax to be collected in the district at the same time and in the same manner provided for the collection of the state retailers' sales tax. All taxes collected under the provisions of this act shall be remitted by the secretary of revenue to the state treasurer in accordance with the provisions of K.S.A 75-4215, and amendments thereto. Upon receipt of each such remittance, the state treasurer shall deposit the entire amount of all taxes collected under the provisions of this act in the state treasury to the credit of the horsethief reservoir benefit district sales tax fund, which fund is hereby established in the state treasury. All moneys in the horsethief reservoir benefit district sales tax fund shall be remitted at least quarterly by the state treasurer, on instruction from the secretary of revenue, to the district. Any refund due on any horsethief reservoir benefit district sales tax collected pursuant to this section shall be paid out of the horsethief reservoir benefit district sales tax refund fund which is hereby established in the state treasury and reimbursed by the director of taxation from collections of the horsethief reservoir benefit district sales tax authorized by this section and applied by the district in the manner provided pursuant to this act.
- Sec. 6. No suit to set aside the creation of the district, the authorization or funding of the project or the horsethief reservoir benefit district sales tax shall be brought after the expiration of 30 days from the date of certification of canvass of the votes at an election which authorizes the imposition of a horsethief reservoir benefit district sales tax
- Sec. 7. The costs of the project shall be paid from all or any of the following sources: (a) The revenue received from the horsethief reservoir benefit district sales tax authorized by this act;
 - (b) the proceeds of any bonds issued pursuant to this act; and
- (c) any other funds made available to the district, including funds appropriated by the state or the Pawnee watershed district.
- Sec. 8. A fund shall be created by the district for the project and identified by a suitable title. The proceeds from the sale of bonds and any other moneys appropriated by the governing board for such purpose shall be credited to such fund. Such fund shall be used solely to pay the costs of the project. Upon payment of the principal and interest on the bonds, if any, the governing board shall have authority to spend any moneys remaining in the fund for the purpose of management and operation of the project.
- Sec. 9. (a) The district may issue bonds in one or more series to finance the undertaking of the project in accordance with the provisions of this act. Such bonds shall be made payable, both as to principal and interest solely from a pledge of the sources of funds described in section 5, and amendments thereto. The district may pledge such revenue to the repayment of such bonds prior to, simultaneously with or subsequent to the issuance of such bonds.
- (b) Bonds issued pursuant to subsection (a) shall not be general obligations of the district, give rise to a charge against its general credit or taxing powers, or be payable out of any funds or properties

- other than any of those set forth in subsection (a) and such bonds shall so state on their face.
- (c) Bonds issued pursuant to subsection (a) shall be special obligations of the district and are declared to be negotiable instruments. Such bonds shall be executed by the authorized representatives of the district and sealed with the corporate seal of the district. All details pertaining to the issuance of the bonds and terms and conditions thereof shall be determined by resolution of the district. The provisions of K.S.A. 10-106, and amendments thereto, requiring a public sale of bonds shall not apply to bonds issued under this act. All bonds issued pursuant to this act and all income or interest therefrom shall be exempt from all state taxes except inheritance taxes. Such bonds shall contain none of the recitals set forth in K.S.A. 10-112, and amendments thereto. Such bonds shall contain the following recitals: The authority under which such bonds are issued; that such bonds are in conformity with the provisions, restrictions and limitations thereof; and that such bonds and the interest thereon are to be paid from the money and revenue received as provided in subsection (a).
- (d) Any district issuing bonds under the provisions of this act may refund all or part of such issue pursuant to the provisions of K.S.A. 10-116a, and amendments thereto.
- (e) Bonds issued under the provisions of this act shall be in addition to and not subject to any statutory limitation of bonded indebtedness imposed on such district.
- Sec. 10. The secretary of revenue, in connection with the horsethief reservoir benefit district for which sales tax revenues are pledged or otherwise intended to be used in whole or in part for the payment of bonds issued to finance project costs in such district for which a horsethief reservoir benefit district sales tax has been imposed, shall provide reports identifying each retailer having a place of business in such district setting forth the tax liability and the amount of such tax remitted by each retailer during the preceding month and identifying each business location maintained by the retailer within the district. Such report shall be made available to the bond trustee, escrow agent or paying agent for such bonds within a reasonable time after it has been requested from the director of taxation. The bond trustee, escrow agent or paying agent shall keep such retailers' district sales tax returns and the information contained therein confidential, but may use such information for purposes of allocating and depositing such district sales tax revenues in connection with the bonds used to finance the costs of the project in the district. Except as otherwise provided, the sales tax returns received by the bond trustee, escrow agent or paying agent shall be subject to the provisions of K.S.A. 79-3614 and amendments thereto.
- Sec. 11. If the horsethief reservoir benefit district sales tax authorized pursuant to this act is not imposed by December 31, 2008, the provisions of this act shall expire.
- Sec. 12. This act shall take effect and be in force from and after its publication in the Kansas register.

SENATE BILL No. 312

AN ACT concerning levies on fire insurance business and the disposition of the moneys remitted therefor; relating to financial support for the state fire marshal, emergency medical services board and the fire service training program of the university of Kansas; amending K.S.A. 2003 Supp. 75-1508 and 75-1514 and repealing the existing sections.

Be it enacted by the Legislature of the State of Kansas:

Section 1. K.S.A. 2003 Supp. 75-1508 is hereby amended to read as follows: 75-1508. (a) For the purpose of maintaining the department of the state fire marshal and the payment of the expenses incident thereto, each fire insurance company doing business in this state shall pay to the commissioner of insurance, on or before March 15 each year, beginning with the year 1984, and each year thereafter,

in addition to the taxes, fees and charges now required by law to be paid by it, such levy as may be made by the state fire marshal. The levy shall not be more than 1.0% .80% for calendar years 2002 and 2003, and 1.25% for calendar year 2004 and ensuing years, for calendar year 2004, and each calendar year thereafter, of a sum equal to the gross cash receipts as premiums of such company on all fire business transacted by it in the state of Kansas during the calendar year next preceding, as shown by its annual statement under oath to the state insurance department.

- (b) For the purposes of maintaining the emergency medical services board and the payment of the expenses incident thereto, each fire insurance company doing business in this state shall pay to the commissioner of insurance, on or before March 15 each year, beginning with calendar year 2002 and ending with each calendar year 2003 thereafter, in addition to the taxes, fees and charges now required by law to be paid by it, such levy as may be made by the emergency medical services board. The levy shall not be more than .25% of a sum equal to the gross cash receipts as premiums of such company on all fire business transacted by it in the state of Kansas during the calendar year next preceding, as shown by its annual statement under oath to the state insurance department. The provisions of this subsection (b) shall expire on July 1, 2004.
- (c) For the purposes of maintaining the fire service training program of the university of Kansas and the payment of the expenses incident thereto, each fire insurance company doing business in this state shall pay to the commissioner of insurance, on or before March 15 each year, beginning with calendar year 2004, and each calendar year thereafter, in addition to the taxes, fees and charges now required by law to be paid by it, such levy as may be made by the Kansas fire service training commission. The levy shall not be more than .20% of a sum equal to the gross cash receipts as premiums of such company on all fire business transacted by it in the state of Kansas during the calendar year next preceding, as shown by its annual statement under oath to the state insurance department.
- (d) The director of the fire service training program of the university of Kansas shall submit a report concerning expenditures and activities of the fire service training program of the university of Kansas to the house committee on appropriations on or before February 1, 2005, and each ensuing year thereafter.
- Sec. 2. K.S.A. 2003 Supp. 75-1514 is hereby amended to read as follows: 75-1514. (a) The commissioner of insurance shall remit all moneys received by the commissioner under subsection (a) of K.S.A. 75-1508, and amendments thereto, to the state treasurer in accordance with the provisions of K.S.A. 75-4215, and amendments thereto. Upon receipt of each such remittance, the state treasurer shall deposit the entire amount in the state treasury to the credit of the fire marshal fee fund for the fiscal years ending June 30, 2003, and June 30, 2004, and the state treasurer shall credit 20% of each such deposit to the state general fund and shall credit the remainder of each such deposit to the fire marshal fee fund for the fiscal year ending June 30, 2005, and ensuing fiscal years.
- (b) There is hereby created the fire marshal fee fund in the state treasury. All expenditures from the fire marshal fee fund shall be made in accordance with appropriations acts upon warrants of the director of accounts and reports issued pursuant to vouchers approved by the state fire marshal or a person or persons designated by the state fire marshal.
- (c) The commissioner of insurance shall remit all moneys received by the commissioner under subsection (b) of K.S.A. 75-1508, and amendments thereto, to the state treasurer in accordance with the provisions of K.S.A. 75-4215, and amendments thereto. Upon receipt of each such remittance, the state treasurer shall deposit the entire amount in the state treasury to the credit of the emergency medical services board operating fund.
- (d) The commissioner of insurance shall remit all moneys received by the commissioner under subsection (c) of K.S.A. 75-1508, and amendments thereto, to the state treasurer in accordance with the provisions of K.S.A. 75-4215, and amendments thereto. Upon

receipt of each such remittance, the state treasurer shall deposit the entire amount in the state treasury to the credit of the fire service training program fund.

- Sec. 3. K.S.A. 2003 Supp. 75-1508 and 75-1514 are hereby repealed.
- Sec. 4. This act shall take effect and be in force from and after its publication in the Kansas register.

State of Kansas

Kansas Lottery

Temporary Administrative Regulations

Article 2.—LOTTERY RETAILERS

- **111-2-158.** Dara's Chain No. 1311 retailer instant ticket incentive. (a) During the period beginning April 1, 2004, and ending May 31, 2004, in addition to compensation provided for in K.A.R. 111-2-4, the Kansas lottery also offers all participating Dara's lottery retailers located in Kansas an opportunity to participate in a \$5 and \$10 instant ticket sales promotion.
- (b) At the end of the promotion, the store with the greatest percentage increase in cumulative \$5 and \$10 instant ticket sales for the period from April 1, 2004, through May 31, 2004, over the base sales period of April 1, 2003, through May 31, 2003, will win a \$40 credit on the retailer's lottery account.

The store with the second greatest percentage increase in cumulative \$5 and \$10 instant ticket sales for the period from April 1, 2004, through May 31, 2004, over the base sales period of April 1, 2003, through May 31, 2003, will win a \$20 credit on the retailer's lottery account.

The store with the third greatest percentage increase in cumulative \$5 and \$10 instant ticket sales for the period from April 1, 2004, through May 31, 2004, over the base sales period of April 1, 2003, through May 31, 2003, will win a \$10 credit on the retailer's lottery account.

All retail locations with any percentage increase in cumulative \$5 and \$10 instant ticket sales over the base period will be entered into a drawing to win a color television chosen by the lottery. The drawing shall be conducted by the lottery to award one color television to the first eligible retailer location drawn. Promotional items chosen by the lottery will also be awarded to all retail locations which show an increase in cumulative \$5 and \$10 instant ticket sales over the base period. (Authorized by and implementing K.S.A. 74-8710 and K.S.A. 74-8708; effective, T-111-4-1-04, March 19, 2004.)

Article 4.—INSTANT GAMES AND DRAWINGS

111-4-2126. "Bonus Crossword" instant ticket lottery game number 360. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Bonus Crossword" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2126.

(b) The "play symbols" for this game are as follows: A - B - C - D - E - F - G - H - I - J - K - L - M - N - O - P - Q

- R S T U V W X Y Z. There are no "play symbol captions" in this game.
- (c) For this game, a play symbol shall appear in each of 18 play spots within the "YOUR NUMBERS" play area, in each of two play spots within the "BONUS" play area, and a variable number of times within the crossword puzzle grid.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free ticket FIV = \$5.00 TEN = \$10.00 TWY = \$20.00 HUN = \$100.00 FHN = \$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (g) "Bonus Crossword" consists of three play areas. In the upper part of the ticket there is a crossword puzzle grid that contains 11 spaces (height) by 11 spaces (width) covered by transparent latex. In the "YOUR LETTERS" play area, located in the lower part of the ticket, there are 18 letters located under opaque latex. To the right of the "YOUR LETTERS" play area is the "BONUS" play area in which there are two letters covered by opaque latex. Imaged around each of the 18 "YOUR LETTERS" and two "BONUS" letters there will be a four-sided box composed of solid lines. A player will remove the latex from the "YOUR LETTERS" and "BONUS" play areas one letter at a time, and then for each matching letter in the crossword puzzle grid scratch off the transparent latex. Each letter revealed in the "YOUR LETTERS" and "BO-NUS" play areas may be used an unlimited number of times in the crossword puzzle grid. If a player reveals at least three complete words in the crossword puzzle grid, the player wins the corresponding prize in the prize legend. The prize legend on the front of the ticket indicates prizes won for number of words revealed.
- (h) To qualify as a complete word to win a prize in this game, the words revealed must meet the following requirements:
 - (1) must contain at least three letters;
- (2) cannot be formed diagonally, run right to left or from bottom to top;
- (3) must appear in an unbroken horizontal or vertical string of letters in the "crossword" puzzle;
- (4) an unbroken string of letters cannot be interrupted by a black space and must contain every single letter square between two black spaces;
- (5) every single letter in the unbroken string must be revealed in "YOUR LETTERS," or "BONUS" areas and be included to form a word; and
- (6) the three small letters outside the squares in the "YOUR LETTERS" area are for validation purposes and cannot be used to play "Bonus Crossword."

- (i) Each ticket in this game may win up to one time. Only the highest prize won on each ticket will be awarded
- (j) Approximately 2,400,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (k) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected
Match	Prizes	Prizes in Game	Value in Game
3 - words	FREE TICKET	400,000	\$0
4 - words	\$5	96,000	480,000
5 - words	\$10	51,200	512,000
6 - words	\$20	18,400	368,000
7 - words	\$100	2,400	240,000
8 - words	\$500	368	184,000
9 - words	\$2,000	88	176,000
10 - words	\$20,000	<u>16</u>	320,000
TOTAL		568,472	\$2,280,000

- (l) The odds of winning a prize in this game are approximately one in 4.22. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2127.** "Fat Cat Doubler" instant ticket lottery game number 362. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Fat Cat Doubler" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2127.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$4.00	FOUR\$
\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY
40.00	FORTY
\$100\$	ONE-HUN
\$500\$	FIVE-HUN
\$1000	ONETHOU
\$2000	TWOTHOU
'CAT'' symbol	DOUBLER

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket ONE = \$1.00 TWO = \$2.00 FOR = \$4.00

FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00
FRY	=	\$40.00
HUN	=	\$100.00
FHN	=	\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Fat Cat Doubler" is a match three of six dollar amounts or match two dollar amounts plus a doubler symbol to win double the dollar amount. The player will remove the scratch-off material to reveal six prize amounts or five prize amounts and a "CAT" doubler symbol. If the player matches three like prize amounts, the player wins that prize amount. If the player matches two like prize amounts and a "CAT" doubler symbol, the player wins double the prize amount.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prizes	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	84,000	\$0
3 - \$1.00's	\$1	36,000	36,000
2 - \$1.00's & (D)	\$2	28,500	57,000
3 - \$2.00's	\$2	27,000	54,000
2 - \$2.00's & (D)	\$4	9,600	38,400
3 - \$4.00's	\$4	8,700	34,800
3 - \$5.00's	\$5	12,000	60,000
2 - \$5.00's & (D)	\$10	4,200	42,000
3 - \$10.00's	\$10	3,600	36,000
2 - \$10.00's & (D)	\$20	1,200	24,000
3 - \$20.00's	\$20	1,050	21,000
2 - \$20.00's & (D)	\$40	270	10,800
3 - \$40.00's	\$40	225	9,000
3 - \$100.00's	\$100	60	6,000
3 - \$500.00's	\$500	24	12,000
2 - \$1,000's & (D)	\$2,000	6	12,000
3 - \$2,000's	\$2,000	6	12,000
TOTAL		216,441	\$465,000

- (D) Denotes "WILD" doubler symbol
- (k) The odds of winning a prize in this game are approximately one in 4.16. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2128.** "Fortune Teller Tripler" instant ticket lottery game number 363. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Fortune Teller Tripler" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2128.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbol Captions
TICKET
ONE\$
THR\$
FIVE\$

10.00	TEN\$
15.00	FIFTEEN
30.00	THIRTY
60.00	SIXTY
$90.^{00}$	NINETY
\$100\$	ONE-HUN
\$300\$	THRHUN
\$1000	ONETHOU
\$3000	THRTHOU
Symbol of a money bag	MNY BAG
Symbol of a star	STAR
Symbol of the moon	MOON
Symbol of the sun	SUN
Symbol of a rainbow	RAINBW
Šymbol of a candle	CANDLE
Symbol of tarot cards	CARDS
Symbol of a stack of cash	CASH
Symbol of a gold bar	GOLD
Symbol of a coin	COIN
Symbol of a crystal ball	

- (c) For this game, a play symbol shall appear in each of 11 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket
ONE = \$1.00
THR = \$3.00
FIV = \$5.00
FTN = \$15.00
TRY = \$30.00
NTY = \$90.00
THH = \$300.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Fortune Teller Tripler" is a key number match game. A player will remove the scratch-off material to reveal one "FORTUNE TELLER SYMBOL" symbol and five "YOUR SYMBOLS" with a prize amount below each of the "YOUR SYMBOLS." If any of the "YOUR SYMBOLS" match the "FORTUNE TELLER SYMBOL," the player wins the prize directly below that matched number. If a player uncovers the crystal ball symbol, the player wins triple that prize instantly.
 - (h) Each ticket in this game may win up to five times.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Ex	cpected Number of	Expected
	Prizes	Prizes in Game	Value in Game
FREE TICKET	FREE TICKET	99,000	\$0
\$1	\$1	48,900	48,900
			(continued)

\$3	\$3	10,500	31,500
\$3 (\$1T)	\$3	12,000	36,000
\$3 (\$1 x 3)	\$3	12,000	36,000
\$5	\$5	3,000	15,000
\$5 (\$1 x 5)	\$5	4,200	21,000
\$5 (\$1 x 2) + (\$1T)	\$5	4,200	21,000
\$15	\$15	2,100	31,500
\$15 (\$5T)	\$15	2,700	40,500
\$15 (\$3 x 5)	\$15	2,700	40,500
\$30	\$30	600	18,000
\$30 (\$10T)	\$30	675	20,250
\$30 (\$15 x 2)	\$30	675	20,250
\$90	\$90	180	16,200
\$90 (\$15 x 4) + \$30	\$90	225	20,250
\$300	\$300	12	3,600
\$300 (\$100T)	\$300	15	4,500
\$300 (\$60 x 5)	\$300	15	4,500
\$3,000	\$3,000	6	18,000
\$3,000 (\$1,000T)	\$3,000	3	9,000
TOTAL		203,706	\$456,450
		-	

"T" denotes tripler symbol

- (k) The odds of winning a prize in this game are approximately one in 4.42. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2129.** "Sky's the Limit" instant ticket lottery game number 364. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Sky's the Limit" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2129.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$2.00	TWO\$
\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY
25.00	TWEN-FIV
40.00	FORTY
\$100\$	ONE-HUN
\$3000	THRTHOU
O	0000
Χ	XXXX

- (c) For this game, a play symbol shall appear in each of 10 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket TWO \$2.00 FIV \$5.00 TEN \$10.00 TWY = \$20.00 **TWF** \$25.00 FRY \$40.00 HUN =\$100.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Sky's the Limit" is a tic-tac-toe game. A player will remove the scratch-off material to reveal nine play symbols and one prize amount. If the player matches three "X" symbols or three "O" symbols in the same row, column, or diagonal straight line, the player wins the amount shown in the prize box area. Symbols below the horizontal line in the play area are not available for play.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prizes	Expected Number of Prizes in Game	Expected Value in Game
Free	Free Ticket	129,000	\$0
\$2	\$2	44,100	88,200
\$5	\$5	20,400	102,000
\$10	\$10	6,600	66,000
\$20	\$20	2,400	48,000
\$25	\$25	1,980	49,500
\$40	\$40	1,020	40,800
\$100	\$100	180	18,000
\$3,000	\$3,000	9	27,000
TOTAL		205,689	\$439,500

- (k) The odds of winning a prize in this game are approximately one in 4.38. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2130.** "50s Fiesta" instant ticket lottery game number 365. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "50s Fiesta" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2130.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$2.00	TWO\$
\$5.00	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
50.00	FIFTY
\$500\$	FIVE-HUN

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket TWO = \$2.00 FIV = \$5.00 TEN = \$10.00 FTN = \$15.00 FTY = \$50.00 FHN = \$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) The "50s Fiesta" instant ticket is a match three of six prize amounts game. The player will remove the latex covering the play area to reveal six prize amounts. If the player matches three like prize amounts, the player wins that amount.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	108,000	\$0
3 - \$2.00's	\$2	36,000	72,000
3 - \$5.00's	\$5	20,400	102,000
3 - \$10.00's	\$10	5,550	55,500
3 - \$15.00's	\$15	3,297	49,455
3 - \$50.00's	\$50	3,300	165,000
3 - \$500.00's	\$500	<u>15</u>	<u>7,500</u>
TOTAL		176,562	<u>\$451,455</u>

- (k) The odds of winning a prize in this game are approximately one in 5.10. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2131.** "Whole Lotta 100s" instant ticket lottery game number 366. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Whole Lotta 100s" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2131.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$2.00	TWO\$
\$5.00	FIVE\$
25.00	TWEN-FIV
50.00	FIFTY
\$100\$	ONE-HUN
\$1000	ONETHOU

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket TWO = \$2.00 FIV = \$5.00

- TWF = \$25.00 FTY = \$50.00 HUN = \$100.00
- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Whole Lotta 100s" is a match three of six prize amounts game. The player will remove the latex covering the play area to reveal six prize amounts. If the player matches three like prize amounts, the player wins that amount
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected
	Prize	Prizes in Game	Value in Game
3 - Free's	Free Ticket	108,000	\$0
3 - \$2.00's	\$2	36,000	72,000
3 - \$5.00's	\$5	18,000	90,000
3 - \$25.00's	\$25	1,800	45,000
3 - \$50.00's	\$50	1,110	55,500
3 - \$100.00's	\$100	1,800	180,000
3 - \$1,000.00's	\$1,000	9	9,000
TOTAL		166,719	\$451,500

- (k) The odds of winning a prize in this game are approximately one in 5.40. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2132.** "25s Come Alive" instant ticket lottery game number 367. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "25s Come Alive" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2132.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Caption
FREE	TICKET
\$2.00	TWO\$
\$5.00	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
25.00	TWEN-FIV
\$100\$	ONE-HUN
\$2500	TWYFHUN

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket TWO = \$2.00 FIV = \$5.00 TEN = \$10.00 FTN = \$15.00 TWF = \$25.00 HUN = \$100.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) The "25s Come Alive" ticket is a match three of six prize amounts game. The player will remove the latex covering the play area to reveal six prize amounts. If the player matches three like prize amounts, the player wins that amount
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
3 - Free's	Free Ticket	108,000	\$0
3 - \$2.00's	\$2	38,250	76,500
3 - \$5.00's	\$5	20,400	102,000
3 - \$10.00's	\$10	5,550	55,500
3 - \$15.00's	\$15	3,000	45,000
3 - \$25.00's	\$25	5,700	142,500
3 - \$100.00's	\$100	75	7,500
3 - \$2,500.00's	\$2,500	9	22,500
TOTAL		180,984	<u>\$451,500</u>

- (k) The odds of winning a prize in this game are approximately one in 4.97. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2133.** "Twice as Lucky" instant ticket lottery game number 368. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Twice as Lucky" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2133.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$3.00	THR\$
\$5.00	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
25.00	TWEN-FIV
50.00	FIFTY
\$100\$	ONE-HUN
\$500\$	FIVE-HUN
\$2000	TWOTHOU

(c) For this game, a play symbol shall appear in each of nine play spots within the play area or areas.

- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket ONE = \$1.00 TWO =\$2.00 FIV \$5.00 TEN = \$10.00 **TWF** \$25.00 FTY \$50.00 HUN =\$100.00 FHN =\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Twice as Lucky" is a match three of nine prize amounts game that allows the player to win once or twice by matching three identical prize amounts one or two times within the same play area. The player will remove the latex covering the play area to reveal nine prize amounts. If the player matches three like prize amounts, the player wins that amount. If the player matches two sets of three identical prize amounts, the player wins both amounts
 - (h) Each ticket in this game may win up to two times.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
2 F/-			
3 - Free's	Free Ticket	84,000	\$0
3 - \$1.00's	\$1	46,500	46,500
3 - \$2.00's	\$2	36,750	73,500
3 - \$5.00's	\$5	9,000	45,000
(3 - \$2.00's) + (3 - \$3.00's)	\$5	9,000	45,000
3 - \$10.00's	\$10	2,400	24,000
(3 - \$5.00's) + (3 - \$5.00's)	\$10	2,400	24,000
3 - \$25.00's	\$25	1,500	37,500
(3 - \$10.00's) + (3 - \$15.00's)	\$25	1,500	37,500
3 - \$50.00's	\$50	600	30,000
(3 - \$25.00's) + (3 - \$25.00's)	\$50	600	30,000
3 - \$100.00's	\$100	210	21,000
(3 - \$50.00's) + (3 - \$50.00's)	\$100	210	21,000
3 - \$500.00's	\$500	24	12,000
3 - \$2,000.00's	\$2,000	9	18,000
TOTAL		194,703	\$465,000

- (k) The odds of winning a prize in this game are approximately one in 4.62. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2134.** "Two for \$1" instant ticket lottery game number 369. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Two for \$1" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2134.

(b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$4.00	FOUR\$
\$5.00	FIVE\$
10.00	TEN\$
15.00	FIFTEEN
20.00	TWENTY
25.00	TWEN-FIV
50.00	FIFTY
\$100\$	ONE-HUN
\$500\$	FIVE-HUN
\$3000	THRTHOU

- (c) For this game, a play symbol shall appear in each of 12 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket ONE = \$1.00 TWO =\$2.00 FIV \$5.00 TEN =\$10.00 TWF =\$25.00 FTY \$50.00 HUN =\$100.00 FHN = \$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) "Two for \$1" is a prize match game. The player will remove the scratch-off material in both Game 1 and Game 2 to reveal one "YOUR PRIZE" and one "THEIR PRIZE" in each of "ROW 1," "ROW 2," and "ROW 3." If the "YOUR PRIZE" matches the "THEIR PRIZE," in any one "ROW," the player wins that prize amount.
 - (h) Each ticket in this game may win up to six times.
- (i) Approximately 900,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	72,000	\$0
\$1	\$1	36,000	36,000
\$1 + \$1	\$2	30,000	60,000
\$2	\$2	24,000	48,000
\$5 (\$1 x 5)	\$5	13,500	67,500
\$5 (\$2 x 2) + \$1	\$5	12,000	60,000
\$5	\$5	9,000	45,000
\$10 (\$2 x 4) + (\$1 x 2)	\$10	1,740	17,400
\$10 (\$5 x 2)	\$10	1,500	15,000
\$10	\$10	1,350	13,500
\$25 (\$4 x 5) + \$5	\$25	900	22,500

\$25	\$25	600	15,000
\$50 (\$25 x 2)	\$50	300	15,000
\$50	\$50	300	15,000
\$100 (\$20 x 5)	\$100	15	1,500
\$100 (\$15 x 5) + \$25	\$100	15	1,500
\$100 (\$25 x 4)	\$100	15	1,500
\$100	\$100	15	1,500
\$500	\$500	9	4,500
\$500 (\$100 x 4) + (\$50 x 2)	\$500	9	4,500
\$3,000	\$3,000	9	27,000
TOTAL		203,277	\$471,900

- (k) The odds of winning a prize in this game are approximately one in 4.43. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2135.** "4 Sows & Bucks" instant ticket lottery game number 381. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "4 Sows & Bucks" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2135.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$100	HUNDRED
\$400	FOR-HUN
\$4,000	FOR-THO
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN
Symbol of a buck	BUCK
Symbol of a sow	SOW

- (c) For this game, a play symbol shall appear in each of 10 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of six varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
ONE	=	\$1.00
TWO	=	\$2.00
FIV	=	\$5.00
TEN	=	\$10.00
TWY	=	\$20.00

FTY = \$50.00 HUN = \$100.00 FRH = \$400.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) To play "4 Sows & Bucks," the player will scratch the game play area to reveal four game symbols identified as "YOUR NUMBERS," each with an associated prize, plus two game symbols identified as "WINNING NUMBERS." If one or more of the four "YOUR NUMBERS" is the same as either of the "WINNING NUMBERS," the player wins the prize associated with the matching number(s). If a "BUCK" symbol is revealed, the player wins that prize automatically. If a "SOW" symbol is revealed, the player wins all four prizes.
 - (h) Each ticket in this game may win up to four times.
- (i) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
Free Ticket	Free Ticket	69,000	\$0
\$1	\$1	18,000	18,000
\$2	\$2	18,000	36,000
(\$1 x 2)	\$2	18,000	36,000
\$5	\$5	10,500	52,500
$$1 + ($2 \times 2)$	\$5	10,500	52,500
\$10	\$10	3,600	36,000
$$5 + ($2 \times 2) + 1	\$10	3,600	36,000
\$20	\$20	<i>7</i> 50	15,000
(\$10 x 2)	\$20	855	17,100
(\$5 x 4)	\$20	900	18,000
\$50	\$50	240	12,000
\$100	\$100	20	2,000
\$50 + (\$20 x 2) + \$10	\$100	20	2,000
\$400	\$400	15	6,000
\$4,000	\$4,000	8	32,000
TOTAL		154,008	\$371,100

- (k) The odds of winning a prize in this game are approximately one in 4.68. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2136.** "Cash Celebration" instant ticket lottery game number 382. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Cash Celebration" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2136.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$40.00	FORTY
\$100	HUNDRED

\$200	TWO-HUN
\$500	FIV-HUN
\$2,000	TWO-THOU

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of six varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

ONE = \$1.00 TWO = \$2.00 FIV = \$5.00 TEN = \$10.00 TWY = \$20.00 FRY = \$40.00 HUN = \$100.00 FHN = \$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) To play "Cash Celebration," the player will scratch the game play area to reveal six prize amounts. If three of the prize amounts are identical, the player wins that prize.
 - (h) Each ticket in this game may win up to one time.
- (i) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

	Prize	Expected Number of Prizes in Game	Expected Value in Game
\$1	\$1	73,200	\$73,200
\$2	\$2	48,000	96,000
\$5	\$5	14,400	72,000
\$10	\$10	4,800	48,000
\$20	\$20	2,400	48,000
\$40	\$40	1,320	52,800
\$100	\$100	18	1,800
\$200	\$200	12	2,400
\$500	\$500	9	4,500
\$2,000	\$2,000	6	12,000
TOTAL		144,165	\$410,700

- (k) The odds of winning a prize in this game are approximately one in 4.99. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2137.** "Bee Happy" instant ticket lottery game number 383. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Bee Happy" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2137.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET

\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$50.00	FIFTY
\$100	HUNDRED
\$500	FIV-HUN
\$1,000	ONE-THO
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN

- (c) For this game, a play symbol shall appear in each of 10 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of six varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE = Free Ticket ONE = \$1.00 TWO =\$2.00 FIV \$5.00 TEN =\$10.00 TWY = \$20.00 FTY \$50.00 HUN =\$100.00 FHN = \$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) To play "Bee Happy," the player will scratch the game play area to reveal four "YOUR NUMBERS," each with an associated prize, plus two "HIVE NUMBERS." If one or more of the four "YOUR NUMBERS" is the same as either of the "HIVE NUMBERS," the player wins the prize associated with the matching number(s).
 - (h) Each ticket in this game may win up to four times.
- (i) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected
	Prize	Prizes in Game	Value in Game
Free Ticket	Free Ticket	48,000	\$0
\$1	\$1	24,000	24,000
\$2	\$2	29,700	59,400
(\$1 x 2)	\$2	29,700	59,400
\$5	\$5	9,000	45,000
$$1 + ($2 \times 2)$	\$5	9,000	45,000
\$10	\$10	3,600	36,000

$$5 + ($2 \times 2) + 1	\$10	3,600	36,000
\$20	\$20	840	16,800
(\$10 x 2)	\$20	840	16,800
(\$5 x 4)	\$20	840	16,800
\$50	\$50	180	9,000
\$100	\$100	20	2,000
\$50 + (\$20 x 2) + \$10	\$100	20	2,000
\$500	\$500	15	7,500
\$1,000	\$1,000	8	8,000
TOTAL		159,363	\$383,700

- (k) The odds of winning a prize in this game are approximately one in 4.52. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2138.** "Fun 1s" instant ticket lottery game number 384. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Fun 1s" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2138.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
\$10.00	TEN\$
\$20.00	TWENTY
\$100	HUNDRED
\$500	FIV-HUN
\$1,111	ONTHONEL
1	ONE
2	TWO
3	THREE
4	FOUR
5	FIVE
6	SIX
7	SEVEN
8	EIGHT
9	NINE
10	TEN

- (c) For this game, a play symbol shall appear in each of six play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 299.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of six varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

ONE = \$1.00 TWO = \$2.00 FIV = \$5.00 TEN = \$10.00 TWY = \$20.00 HUN = \$100.00 FHN = \$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$1.00 each.
- (g) To play "Fun 1s," the player will scratch the game play area to reveal five game symbols, each with an as-

sociated prize. If the player reveals one or more "1" symbols on the top row, the player wins the prize shown below each one "1."

- (h) Each ticket in this game may win up to five times.
- (i) Approximately 720,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes per prize pool of 240,000 tickets, and the same odds as were contained in the initial ticket order.
- (j) The expected number and value of instant prizes in this game shall be as follows:

		Expected Number of	Expected
	Prize	Prizes in Game	Value in Game
\$1	\$1	72,000	\$72,000
\$2	\$2	27,000	54,000
(\$1 x 2)	\$2	27,000	54,000
\$5	\$5	9,600	48,000
(\$1 x 5)	\$5	9,600	48,000
\$10	\$10	2,400	24,000
(\$2 x 5)	\$10	2,400	24,000
\$20	\$20	840	16,800
(\$10 x 2)	\$20	840	16,800
(\$5 x 4)	\$20	840	16,800
\$100	\$100	60	6,000
(\$20 x 5)	\$100	60	6,000
$($100 \times 5)$	\$500	12	6,000
\$500	\$500	12	6,000
\$1,111	\$1,111	12	13,332
TOTAL		<u>152,676</u>	<u>\$411,732</u>

- (k) The odds of winning a prize in this game are approximately one in 4.72. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2139.** "Kansas Speedway" instant ticket lottery game number 371. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Kansas Speedway" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2139.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	TICKET
\$1.00	ONE\$
\$2.00	TWO\$
\$4.00	FOUR\$
\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY
25.00	TWEN-FIV
40.00	FORTY
50.00	FIFTY
\$100\$	ONE-HUN
\$500\$	FIVE-HUN
\$1000	ONETHOU
\$10000	10-THOU
30	THIRTY
35	THRTYFIV
40	FORTY
45	FRTYFIV
50	FIFTY
55	FTYFIV

60	SIXTY
65	SXTYFIV
70	SEVENTY
75	SVNTYFIV
80	EIGHTY
Symbol of a helmet	HELMET
Symbol of keys	KEYS
Symbol of racing goggles	GOGGLES
Symbol of a gas pump	GAS
Symbol of an oil can	OIL CAN
Symbol of traffic lights	LIGHTS
Symbol of a racing flag	FLAG
Symbol of a tire	TIRE
Symbol of racing gloves	GLOVES
GOOD LUCK	
MAYBE NEXT TIME	

- (c) For this game, a play symbol shall appear in each of 26 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

FRE	=	Free Ticket
TWO	=	\$2.00
FOR	=	\$4.00
FIV	=	\$5.00
TEN	=	\$10.00
TWF	=	\$25.00
FRY	=	\$40.00
FTY	=	\$50.00
HUN	=	\$100.00
FHN	=	\$500.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (g) "Kansas Speedway" is a ticket with three different games. Game 1 is a speed to beat game. The player will remove the scratch-off material covering the play area to reveal six "YOUR SPEED" values, six "SPEED TO BEAT" values, and six "PRIZE" amounts in each of "ROW 1," "ROW 2," "ROW 3," "ROW 4," "ROW 5," and "ROW 6." If the "YOUR SPEED" is greater than the "SPEED TO BEAT" in the same "ROW," the player wins the "PRIZE" for that "ROW." A player can win up to six times in this play area.

Game 2 is a symbol match game. A player will remove the scratch-off material to reveal six play symbols. If a player reveals three like play symbols, the player wins the prize in the prize box. A player can win once in this game play area.

Game 3 is an instant win game. A player will remove the scratch-off material to reveal one play symbol. If a player reveals any prize amount, the player wins that amount instantly. A player can win once in this game play area.

- (h) Each ticket in this game may win up to eight times.
- (i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall

have the same prize structure, the same number of prizes per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

		E Prize	xpected Number of Prizes in Game	Expected Value in Game
FREE TIC	KET	FREE TICKET	60,000	\$0
\$2		\$2	34,000	68,000
\$4		\$4	11,600	46,400
\$4 (\$2 x 2))	\$4	11,600	46,400
\$5		\$5	7,700	38,500
\$5 (\$1 x 5))	\$5	7,600	38,000
\$10		\$10	2,760	27,600
\$10 (\$2 x 5	5)	\$10	2,800	28,000
\$25		\$25	1,000	25,000
\$25 (\$5 x 5	,	\$25	1,200	30,000
\$25 (\$2 x 5	5) +	\$25	1,200	30,000
(\$5 x 3)				
\$40		\$40	300	12,000
\$40 (\$10 x	,	\$40	300	12,000
\$40 (\$5 x 8)		\$40	300	12,000
\$50		\$50	100	5,000
\$50 (\$10 x	,	\$50	100	5,000
\$50 (\$5 x 6	,	\$50	100	5,000
(\$10 x 2	.)	#4.00	40	4.000
\$100	(1)	\$100	40	4,000
\$100 (\$10 (\$20 x 2		\$100	60	6,000
\$500	Game 1	\$500	20	10,000
\$1,000	Game 1	\$1,000	6	6,000
\$10,000	Game 1	\$10,000	6	60,000
Subtotal			142,792	\$514,900
Prize Packages - 48 @ \$2,545.66		@ \$2,545.66 ea	•	122,192
TOTAL	J		142,840	\$637,092

- (k) The odds of winning a prize in this game are approximately one in 4.20. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2140.** "Wild Ride" instant ticket lottery game number 370. (a) The Kansas lottery shall conduct an instant winner lottery game entitled "Wild Ride" commencing on or after April 1, 2004. The rules for this game are contained in K.A.R. 111-3-1 *et seq.* and 111-4-2140.
- (b) The "play symbols" and "play symbol captions" for this game are as follows:

Play Symbols	Play Symbol Captions
FREE	ADMISSION
\$1.00	ONE\$
\$2.00	TWO\$
\$5.00	FIVE\$
10.00	TEN\$
20.00	TWENTY
25.00	TWEN-FIV
40.00	FORTY
50.00	FIFTY
\$100\$	ONE-HUN
\$500\$	FIVE-HUN
\$1000	ONETHOU
\$10000	10-THOU
01	ONE
02	TWO
03	THR
04	FOR

05	FIV
06	SIX
07	SEV
08	EGT
09	NIN
10	TEN
11	ELVN
12	TWLV
13	THRTN
14	FOURTN
15	FIFTN
16	SIXTN
17	SEVTN
18	EIGHTN
19	NINTN
20	TWNTY
21	TWTYONE
22	TWYTWO
23	TWTYTHR
24	TWTYFR
25	TWTYFIV
GOOD LUCK	
MAYBE NEXT TIME	

- (c) For this game, a play symbol shall appear in each of 20 play spots within the play area or areas.
- (d) The ticket numbers in each book of tickets in this game shall start with 000 and end with 149.
- (e) The three letters comprising the retailer validation codes used in this game shall appear in three of eight varying locations among the play symbols. The retailer validation codes for this game and their meanings are as follows:

TWO = \$2.00 FIV = \$5.00 TEN = \$10.00 TWF = \$25.00 FRY = \$40.00 FTY = \$50.00 HUN = \$100.00

- (f) The price of instant tickets sold by a retailer for this game shall be \$2.00 each.
- (g) "Wild Ride" is a ticket with two different games. Game one is an instant win game. The player will remove the scratch-off material covering the play area. If the words "FREE ADMISSION" are revealed, the player wins free admission to the Kansas State Fair. If a player reveals any prize amount, the player wins that amount instantly. A player can win once in this game play area.

Game 2 is a key number match game. A player will remove the scratch-off material to reveal three "WILD NUMBERS" and eight "WINNING NUMBERS" with a prize amount below each of the "WINNING NUMBERS." If a player matches any of the "WILD NUMBERS" to any of the "WINNING NUMBERS," the player wins the prize shown below the matched number. A player can win up to eight times in this play area.

(h) Each ticket in this game may win up to nine times.

(i) Approximately 600,000 tickets shall be ordered initially for this instant game. Additional ticket orders shall have the same prize structure, the same number of prizes

per prize pool of 300,000 tickets, and the same odds as were contained in the initial ticket order.

(j) The expected number and value of instant prizes in this game shall be as follows:

e e				. 137 1 6	
	Game 1	Game 2	Prize	pected Number of Prizes in Game	Expected Value in Game
		Game 2		rrizes in Game	value in Game
	FREE		FREE		***
FREE ADMISSION	ADMISSION		ADMISSIO		\$0
\$2	\$2		\$2	34,000	68,000
\$2		\$2	\$2	34,000	68,000
\$2		\$1 + \$1	\$2	22,000	44,000
\$2	\$1	\$1	\$2	22,000	44,000
\$5	\$5		\$5	3,000	15,000
\$5		\$5	\$5	3,000	15,000
\$5	\$2	\$3	\$5	3,000	15,000
\$5		\$1 x 5	\$5	3,200	16,000
\$10	\$10		\$10	1,400	14,000
\$10		\$2 x 5	\$10	1,600	16,000
\$10	\$5	\$5	\$10	1,600	16,000
\$25	\$25		\$25	600	15,000
\$25		\$25	\$25	600	15,000
\$25	\$5	\$5 x 4	\$25	800	20,000
\$25	\$10	(\$2 x 5)	\$25	720	18,000
		+ \$5			
\$25		\$5 x 5	\$25	900	22,500
\$40	\$40		\$40	430	17,200
\$40		\$5 x 8	\$40	430	17,200
\$40	\$10	\$10 x 3	\$40	430	17,200
\$50	\$50		\$50	400	20,000
\$50		\$25 x 2	\$50	400	20,000
\$50	\$10	\$5 x 8	\$50	400	20,000
\$100	\$100		\$100	70	7,000
\$100		\$50 x 2	\$100	80	8,000
\$100		\$25 x 4	\$100	80	8,000
\$100	\$20	\$10 x 8	\$100	80	8,000
\$1,000		\$1,000	\$1,000	10	10,000
\$1,000		\$500 x 2	\$1,000	10	10,000
\$10,000		\$10,000	\$10,000	6	60,000
SUBTOTAL				141,246	\$644,100
Grand Prize (vehicle a	nd races)			1	49,703
Cash Prizes (5 @ \$2,85			\$2,858	5	14,290
TOTAL	- /		. ,,	141,252	\$708,093
IOIAL				171,232	ψ/ 00,093

(k) The odds of winning a prize in this game are approximately one in 4.25. (Authorized by K.S.A. 74-8710; implementing K.S.A. 74-8710 and K.S.A. 74-8720; effective, T-111-4-1-04, March 19, 2004.)

KANSAS SPEEDWAY FALL 2004 DRAWING

111-4-2141. Name of drawing. The Kansas lottery shall conduct a drawing entitled "Kansas Speedway Fall 2004 Drawing," and will accept entries on and after the day Kansas lottery "Kansas Speedway" instant ticket game number 371 is first offered for sale to the general public and ending on Tuesday, August 24, 2004, as specified in K.A.R. 111-4-2141. All references to the "Kansas Speedway" ticket for this drawing are to the \$2.00 Kansas lottery "Kansas Speedway" instant ticket, game number 371. The drawing will be held on Friday, August 27, 2004, at Kansas lottery headquarters in Topeka, Kansas. Rules applicable to the "Kansas Speedway Fall 2004 Drawing" are contained in K.A.R. 111-4-2141 through 111-4-2146 and K.A.R. 111-3-1, et seq. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-4-1-04, March 19, 2004.)

111-4-2142. Definitions. (a) All definitions contained in the Kansas lottery act (K.S.A. 74-8701 *et seq.*) and lottery regulations are hereby incorporated by reference and govern unless otherwise indicated.

(b) "Kansas Speedway Fall 2004 Drawing" means the act of drawing prizes conducted by the Kansas lottery at lottery headquarters in Topeka, Kansas, at the time described in K.A.R. 111-4-2144, in which participants are

selected to win various prizes as described in K.A.R. 111-4-2143.

- (c) "Non-winning ticket" means any valid Kansas "Kansas Speedway" instant game lottery ticket not eligible to win a prize under the rules of the "Kansas Speedway" instant game.
- (d) "Receptacle" or "drum" means a container in which non-winning Kansas instant game lottery tickets are placed and from which the "Kansas Speedway Fall 2004 Drawing" entries are drawn. Receptacles or drums may be sealable and shall be capable of being mixed or rotated for the purpose of ensuring random distribution.
- (e) "Bare arm technique" means a type of drawing where the person drawing the winning ticket from the receptacle or drum wears a long-sleeved shirt with sleeve rolled up above the elbow, a short-sleeved shirt (sleeve not extending past the elbow) or a no-sleeve shirt which exposes the drawer's bare arm and looks away from the drawing drum or receptacle while drawing. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-4-1-04, March 19, 2004.)

at the "Kansas Speedway Fall 2004 Drawing," which will be conducted on August 27, 2004, shall receive a racing weekend package for two persons. The racing weekend package for two persons shall consist of two tickets for each day of the October 9 and 10, 2004, races conducted at Kansas Speedway in Kansas City, Kansas, one double occupancy hotel room and room taxes for the evenings of October 8, 2004, and October 9, 2004, standard hotel parking, round-trip transportation between Kansas Speedway and the hotel, food and other amenities at the Kansas lottery hospitality chalet located at Kansas Speedway, \$300 cash, and mandatory state and federal withholding taxes. The following restrictions shall apply to this prize:

- (1) The Kansas lottery is not responsible for any losses caused by delay or cancellation of said automobile race.
- (2) Prize packages are transferable one time and cannot be redeemed for cash.
 - (3) The lottery shall choose and reserve all hotel rooms.
- (4) The lottery shall provide transportation to and from Kansas Speedway on a scheduled basis. All other transportation is the responsibility of the prize winners.
- (5) Prize winners will receive notification of their prize, but the actual prize will be delivered at a time and place to be announced by the lottery.
- (6) Any meals, drinks, gratuities, taxes, and other expenses that are not specifically mentioned are not included
- (7) The hotel may require winners to produce a major credit card at the time of check-in. Winners are responsible for all hotel charges incurred in excess of the room charge, and standard parking fees for one vehicle for each prize package.
- (b) There will be 48 (forty-eight) winners selected at the drawing.
- (c) All prizes are subject to lottery validation, set-offs and deductions authorized by law.
- (d) The winner of a prize shall return to the lottery a completed claim form as provided by the lottery within

14 calendar days in which his or her ticket was drawn or the person named on the ticket drawn will no longer be eligible for the prize. In such an event, the first eligible alternate entry drawn for that prize pursuant to subsection (e) of K.A.R. 111-4-2146 shall be declared the winner. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-4-1-04, March 19, 2004.)

- **111-4-2144. Method of entry.** (a) Entry into the "Kansas Speedway Fall 2004 Drawing" to be conducted on August 27, 2004, shall be accomplished as follows:
- (1) Öbtain a valid "Kansas Speedway" Kansas instant lottery ticket.
- (2) Determine if the ticket is a winning ticket in accordance with "Kansas Speedway" game rules. If the ticket is a winning ticket, it is not eligible for the drawing and shall be redeemed in accordance with the instant game rules.
- (3) If the ticket is a valid non-winning ticket, the ticket is eligible for the drawing and the holder of the ticket may use it to enter the drawing.
- (4) The holder of the non-winning ticket must complete the information form on the back of the ticket in a legible manner. Only one name shall appear on a non-winning ticket entered.
- (5) A receptacle or drum may be available for deposit of entries at the Kansas Speedway and other locations as may be specifically designated by the lottery. All entries so deposited shall be transported to lottery headquarters and secured until the time of the drawing.
- (6) Entries may also be mailed with proper postage to "Kansas Speedway Drawing," c/o Kansas lottery, P. O. Box 750980, Topeka, Kansas 66675-0980. Mailed entries must be received by morning mail pickup on Tuesday, August 24, 2004. More than one entry may be mailed in one envelope.
- (7) The holder of the ticket is not required to personally attend the drawing or be present at the time of the drawing to be determined a winner.
- (8) The drawing will be conducted on Friday, August 27, 2004.
- (b) There is no limit on the number of entries a person may make, but a person may only win one time in the drawing.
- (c) Only valid non-winning "Kansas Speedway" tickets which are mailed to "Kansas Speedway Drawing," c/o Kansas lottery, P. O. Box 750980, Topeka, Kansas 66675-0980 with proper postage and received by the morning mail pickup in Topeka, Kansas, on Tuesday, August 24, 2004, and non-winning "Kansas Speedway" tickets entered at the Kansas lottery location at Kansas Speedway and other locations as may be specifically designated by the lottery shall be eligible for the drawing.
- (d) Eligible entrants in the "Kansas Speedway Fall 2004 Drawing" must be 18 years of age or older.
- (e) Completing the information form on the non-winning ticket and entering the ticket into the drawing constitutes authorization to publicly identify the person whose entry is drawn. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-4-1-04, March 19, 2004.)
- **111-4-2145.** Certification of drawing. (a) The "Kansas Speedway Fall 2004 Drawing" shall be person-

ally observed by a member of the Kansas lottery security department and a member of the Kansas lottery marketing department or other person or persons designated by the executive director of the lottery (hereinafter "event manager").

(b) Upon completion of the drawing, the security official and the event manager shall issue a report to the executive director, certifying that the name of each prize winner is correct, and that to the best of their knowledge the procedures required by these rules were followed in selecting the prize winners. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-4-1-04, March 19, 2004.)

111-4-2146. Selection of winners. The following process shall be used for the selection of winners in the "Kansas Speedway Fall 2004 Drawing:"

- (a) Kansas lottery personnel shall pick up all mail containing "Kansas Speedway Fall 2004 Drawing" tickets at the United States Post Office in Topeka, Kansas, with the final pick up at the Topeka post office in the morning mail pickup on Tuesday, August 24, 2004. Following the morning mail pickup on Tuesday, August 24, 2004, the envelopes containing mailed entries will be transported to lottery headquarters and opened by lottery personnel. All mailed entries and entries retained from the Kansas lottery selling location at Kansas Speedway and such other locations as specifically designated by the lottery shall then be placed in the drawing receptacle or drum.
- (b) The drawing shall be held at Kansas lottery headquarters and shall be open to the public with lottery security personnel present. The drawing shall be audio and video taped.
- (c) At the final drawing on Friday, August 27, 2004, lottery security personnel will be present with the person designated by the executive director to perform the drawing. Prior to the drawing, if a drum is used, the drum shall be sealed and the contents mixed by rotating the drum at least 10 times. If a receptacle other than a drum is used, the contents shall be thoroughly mixed prior to the drawing.
- (d) The designated individual shall then unseal the drum, if a drum is used, and using the bare-arm technique, while looking away, remove 48 entries from the receptacle or drum, one at a time. The person whose name appears on each entry shall be the winner of one of the prize packages identified in K.A.R. 111-4-2143, subject to validation by the lottery as set forth in these rules. Each valid entry shall be numbered from one through 48.
- (e) After 48 entries have been drawn, and the entries have been verified as valid, 10 more entries will be drawn, one at a time. The last 10 entries drawn will serve as alternate entries for the prize packages. The alternate entries will be marked in order drawn, 1A, 2A, 3A, 4A, 5A, 6A, 7A, 8A, 9A, and 10A. The alternate entries will be used only if one or more of the original winners cannot be located or is declared ineligible, or fails to present a fully-executed claim form to lottery headquarters by 5:00 p.m. of the fourteenth calendar day following the drawing. The alternates will be used, if necessary, in the order drawn. If an alternate winner cannot be located, is de-

clared ineligible, or fails to present a fully-executed claim form to lottery headquarters by 5:00 p.m. of the four-teenth calendar day following the claim form being given or sent to the alternate winner, the alternate winner process shall be repeated until the prize is properly claimed or until such time as no alternate winners remain, whichever occurs first.

- (f) The Kansas lottery security official present shall review each ticket drawn to determine the validity of the entry into the "Kansas Speedway Fall 2004 Drawing" in accordance with these regulations. If it is a valid entry and the name is legible, the event manager and the security person present shall record the name of the winner and the prize won. Each winner shall be given or sent a prize claim form to be completed and returned to the lottery within 14 calendar days of the drawing.
- (g) If the entry is determined to be ineligible, it shall be discarded by the security person present and another entry drawn. This procedure will be repeated until valid selections are obtained.
- (h) Only non-winning "Kansas Speedway" instant tickets as defined by these rules are eligible for the drawing.
- (i) All "Kansas Speedway" tickets remaining in the drum or receptacle on August 27, 2004, after the winners and alternatives have been selected, and all entries not received in compliance with these rules, shall be destroyed pursuant to K.A.R. 111-3-34. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-4-1-04, March 19, 2004.)

Article 5.—MULTI-STATE ON-LINE GAMES

111-5-113. Method of entry. (a) Entry into the "The Grand Canyon 2by2 Truck Giveaway" shall be accomplished as follows:

- (1) Beginning at 5:00 a.m. on February 8, 2004, and ending at the close of business as defined in subsection (p) of K.A.R. 111-6-1, on April 17, 2004, for every single 2by2 ticket purchase of \$2.00 or more, the purchaser shall receive free of charge an entry blank for the drawing, which entry blank shall be automatically dispensed from the terminal upon qualifying purchase. In addition, from the time the Kansas lottery begins selling 2by2 tickets using lottery terminal(s) at the 3i Show in Great Bend, Kansas, on April 22, 2004, through and including 3:00 p.m. on April 24, 2004, for every single 2by2 ticket purchased from said terminal(s) of \$2.00 or more, the purchaser shall receive free of charge an entry blank for the drawing, which entry blank shall be automatically dispensed from the terminal(s) upon the qualifying purchase.
- (2) The holder of an entry blank must fill in the entry blank in a legible manner. Only one name shall appear on an entry blank.
- (3) Place one or more completed entry blank(s) for said drawing into an envelope with proper postage and mail it to: "Canyon Truck Giveaway," c/o Kansas lottery, P. O. Box 1494, Great Bend, Kansas 67530-1494, or deposit completed entry blank(s) into the lottery receptacle designated at the 3i Show from April 22, 2004, until 3:00 p.m. on April 24, 2004. Mailed entries must be received by morning mail pickup on Tuesday, April 20, 2004. A receptacle or drum may also be available for deposit of en-

tries at locations specifically designated by the lottery. All entries so deposited shall be transported to the lottery office in Great Bend, Kansas, and secured until the time of the drawing.

- (4) The holder of the entry is not required to personally attend said drawing or be present at the time of the drawing to be determined a winner.
- (5) The drawing will be conducted at the approximate time listed in K.A.R. 111-5-111.
- (b) There is no limit on the number of entries a person may make, but a person may only win one time.
- (c) All eligible entries which are mailed and received by the morning mail pickup in Great Bend, Kansas, on Tuesday, April 20, 2004, those deposited at the 3i Show, and those deposited at locations specifically designated by the lottery pursuant to subsection (a) herein, shall be entered into said drawing.
- (d) Eligible entrants in the drawing must be 18 years of age or older.
- (e) Completing the information form on the entry blank and entering it into the drawing constitutes authorization to publicly identify the person whose entry is drawn.
- (f) The executive director of the Kansas lottery may, in his sole discretion, cancel this promotion at any time. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-2-19-04, Feb. 5, 2004; amended, T-111-4-1-04, March 19, 2004.)

111-5-114. Selection of winners. The following process shall be used for the selection of winners in the "The Grand Canyon 2by2 Truck Giveaway":

- (a) Kansas lottery personnel shall pick up all mail containing entries mailed to P. O. Box 1494 for the drawing at the United States Post Office in Great Bend, Kansas, with final pick up on Tuesday, April 20, 2004.
- (b) Lottery personnel shall transport the mail to the Great Bend regional office where the envelopes will be opened and the entries contained therein stored in a secure location until immediately prior to the drawing, at which time all entries will be placed into the drawing receptacle or drum, along with all entries deposited at the 3i Show pursuant to the rules herein, and all entries retained from any other locations as specifically designated by the lottery.
- (c) The drawing shall be held at the 3i Show in Great Bend, Kansas, in a place accessible to the public and open for public attendance with lottery security personnel present. The drawing shall be audio and video taped.
- (d) At the start of the drawing, lottery security personnel shall present the receptacle or drum to the person designated by the executive director to perform the drawing. The receptacle or drum for the said drawing shall contain all eligible entries. The entries shall be thoroughly mixed prior to the entries actually being drawn. The designated individual shall then unseal the receptacle or drum, and using the bare-arm technique, while looking away, remove one entry from the receptacle or drum and mark it in such a way as to identify it as the winning entry. The person whose name appears on the entry shall be the winner of the prize identified in K.A.R. 111-5-112, subject to validation by the lottery as set forth in these rules.

- (e) After one entry has been drawn and verified as valid by lottery security, two more entries will be drawn, one at a time, to serve as alternate entries. The alternate entries will be marked in order drawn, 1A and 2A. The alternate entries will be used only if the original winner cannot be located or is declared ineligible, or fails to present a fully-executed claim form to lottery headquarters by 5:00 p.m. of the forty-fifth day following the drawing. The alternates will be used, if necessary, in the order drawn.
- (f) The Kansas lottery security official present shall review each entry drawn to determine the validity of the entry into the said drawing in accordance with these regulations. If it is a valid entry and the information is legible, the event manager and the security person present shall record the name of the winner and each alternate. Each winner shall be given or sent a prize claim form to be completed and received by the lottery within 45 days of the drawing.
- (g) If any entry is determined to be ineligible, it shall be discarded by the security person present and another entry drawn. This procedure will be repeated until valid selections are obtained.
- (h) Entries remaining in the drum or receptacle after the drawing has been completed and all entries not received in compliance with these rules shall be destroyed pursuant to K.A.R. 111-3-34. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-2-19-04, Feb. 5, 2004; amended, T-111-4-1-04, March 19, 2004.)

Article 7.—ON-LINE GAMES

- **111-7-190. Method of entry.** (a) Entry into the "Buy \$3 Get an Entry Free Drawing 2004" shall be accomplished as follows:
- (1) With every single purchase of \$3 or more for the Kansas lottery "Super Kansas Cash" game from February 29, 2004, through May 22, 2004, the purchaser shall receive one entry form for this drawing.

(2) The purchaser must complete the information on the entry form in a legible manner. Only one name shall

appear on each entry form.

- (3) Place one or more entry form(s) into an envelope with proper postage and mail it to: "Buy \$3 Get an Entry Free Drawing," c/o Kansas lottery, P. O. Box 4526, Topeka, Kansas 66604-0526. Mailed entries must be received by morning mail pickup on Tuesday, May 25, 2004. A receptacle or drum may also be available for deposit of entries at locations specifically designated by the lottery. All entries so deposited shall be transported to lottery headquarters and secured until the time of the drawing.
- (4) The holder of the ticket is not required to personally attend the drawing or be present at the time of the drawing to be determined a winner.
- (5) Forty-eight entries and 10 alternate entries will be drawn.
- (6) Entry forms obtained during the stated period of time may be entered in the drawing.
- (b) There is no limit on the number of entries a person may make, but a person may only win one time during the entire promotion.
- (c) All eligible entry forms which are mailed and received by the morning mail pickup in Topeka, Kansas, on Tuesday, May 25, 2004, and all entries deposited at

locations specifically designated by the lottery shall be entered into the drawing to be conducted on Friday, May 28, 2004.

- (d) Eligible entrants in this drawing must be 18 years of age or older.
- (e) Completing the information form on the entry form and entering the ticket into any drawing constitutes authorization to publicly identify the person whose entry is drawn. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-2-20-04, Feb. 18, 2004; amended, T-111-4-1-04, March 19, 2004.)

111-7-192. Selection of winners. The following process shall be used for the selection of winners in the "Buy \$3 Get an Entry Free Drawing 2004":

(a) Kansas lottery personnel shall pick up all mail containing entries for this drawing at the United States Post Office in Topeka, Kansas, with final pick up for the drawing after the morning mail delivery on Tuesday, May 25, 2004, prior to the drawing on Friday, May 28, 2004.

(b) Lottery personnel shall transport the mail to the Kansas lottery mail room where the envelopes will be opened and emptied into the drawing receptacle or drum. All entries retained from any other locations as specifically designated by the lottery shall also be placed in the drawing receptacle or drum.

(c) The drawing shall be held at the lottery headquarters in a place accessible to the public and open for public attendance with lottery security personnel present. The

drawing shall be audio and video taped.

- (d) At the start of the drawing, lottery security personnel shall present the receptacle or drum to the person designated by the executive director to perform the drawing. The receptacle or drum for the drawing shall contain all entries eligible for the drawing. The drum shall be rotated 10 times or receptacle mixed thoroughly as may be applicable. The designated individual shall then unseal the receptacle or drum, and using the bare-arm technique, while looking away, remove 48 valid entries, one at a time, from the receptacle or drum and mark them in order drawn from one through and including 48. The person whose name appears on each of the entries shall be the winner of the prize identified in K.A.R. 111-7-189, subject to validation by the lottery as set forth in these rules.
- (e) After 48 entries have been drawn and verified as valid by lottery security, 10 more entries will be drawn, one at a time, to serve as alternate entries. The alternate entries will be marked in order drawn, 1A, 2A, 3A, 4A, 5A, 6A, 7A, 8A, 9A, and 10A. The alternate ticket entries will be used only if one or more of the original winners cannot be located or are declared ineligible, or fail to present a fully-executed claim form to lottery headquarters as required by K.A.R. 111-7-189(i). The alternates will be used, if necessary, in the order drawn.
- (f) The Kansas lottery security official present shall review each entry drawn to determine the validity of the entry into the drawing in accordance with these regulations. If it is a valid entry and the name is legible, the event manager and the security person present shall record the name of the winner. Each winner shall be given or sent a prize claim form to be completed and returned to the lottery within 14 calendar days of the drawing.

- (g) If the entry is determined to be ineligible, it shall be discarded by the security person present and another entry drawn. This procedure will be repeated until valid selections are obtained.
- (h) All entries remaining in the drum or receptacle after the winners have been selected and certified and all entries not received in compliance with these rules shall be

destroyed pursuant to K.A.R. 111-3-34. (Authorized by and implementing K.S.A. 74-8710; effective, T-111-2-20-04, Feb. 18, 2004; amended, T-111-4-1-04, March 19, 2004.)

Ed Van Petten Executive Director

INDE	EX TO ADMIN REGULATIO			GENCY 5: DEPAR GRICULTURE—D WATER RESO	IVISION OF	9-19-1 through 9-19-11	Revoked	V. 22, p. 1816
This ir	ndex lists in nun	nerical order the	Pag No			9-19-12	New (T)	V. 22, p. 1261
		oked administra-	Reg. No.	Action	Register	9-19-12	New	V. 22, p. 1816
		olume and page	5-1-1	Amended	V. 22, p. 1747	9-22-4	Amended (T)	V. 22, p. 1261
			5-1-4 5-1-6	Amended Amended	V. 22, p. 1751	9-22-4	Amended	V. 22, p. 1507
		Register issue in	5-1-6 5-1-9	Amended	V. 22, p. 1752 V. 22, p. 1753	9-22-5 9-22-5	Amended (T)	V. 22, p. 1262
		can be found.	5-1-12	Amended	V. 22, p. 1753 V. 22, p. 1753	9-25-2	Amended Amended (T)	V. 22, p. 1508 V. 22, p. 1264
		are designated	5-3-1	Amended	V. 22, p. 1753	9-25-3	Amended (T)	V. 22, p. 1264 V. 22, p. 1264
		column. This cu-	5-3-1b	New	V. 22, p. 1754	9-25-5	Amended (T)	V. 22, p. 1265
mulative	index suppleme	ents the 2003 Vol-	5-3-3a	New	V. 22, p. 1754	9-25-5	Amended	V. 22, p. 1817
umes of	the Kansas Admi	inistrative Regula-	5-3-4c	Amended	V. 22, p. 1754	9-25-6	Amended (T)	V. 22, p. 1266
tions.		O	5-3-4d	Amended	V. 22, p. 1754	9-25-6	Amended	V. 22, p. 1818
Δ.(GENCY 1: DEPART	TMENT OF	5-3-5c 5-3-7	Amended Amended	V. 22, p. 1755 V. 22, p. 1755	9-25-12 9-25-12	Amended (T) Amended	V. 22, p. 1267 V. 22, p. 1850
A	ADMINISTRA		5-3-16a	New	V. 22, p. 1755 V. 22, p. 1755	9-26-1	Amended (T)	V. 22, p. 1830 V. 22, p. 1267
D. N.			5-3-19	Amended	V. 22, p. 1756	9-26-1	Amended	V. 22, p. 1818
Reg. No.	Action	Register	5-5-2a	New	V. 22, p. 1756		GENCY 14: DEPAR	•
1-6-21	Amended	V. 22, p. 1968	5-5-16	Amended	V. 22, p. 1757		UE—DIVISION C	
1-6-23	Amended (T)	V. 22, p. 466	5-6-13a	New	V. 22, p. 1758		BEVERAGE CON	
1-6-23 1-45-1	Amended	V. 22, p. 1230	5-6-15	Amended	V. 22, p. 1758	Reg. No.	Action	Register
through			5-7-1 5-9-1	Amended Amended	V. 22, p. 1758 V. 22, p. 1759	14-13-9		=
1-45-7	Revoked	V. 22, p. 226	5-9-6	Amended	V. 22, p. 1759 V. 22, p. 1759	14-15-1	Amended New	V. 22, p. 1929 V. 22, p. 123
1-45-7a	Revoked	V. 22, p. 226	5-14-10	New	V. 22, p. 1759 V. 22, p. 1759	14-15-2	New	V. 22, p. 123 V. 22, p. 123
1-45-8			5-14-11	New	V. 22, p. 1760			COMMISSIONER
through			5-23-1	Amended	V. 23, p. 181	AGENCI	(see Agency 75, th	
1-45-14	Revoked	V. 22, p. 226	5-23-3	Amended	V. 23, p. 181	D N-		
1-45-15	Revoked	V. 22, p. 226	5-23-3a	Amended	V. 23, p. 182	Reg. No.	Action	Register
1-45-16 1-45-17	Revoked Revoked	V. 22, p. 226 V. 22, p. 226	5-23-4 5-23-4a	Amended	V. 22, p. 1933	17-8-1	New	V. 22, p. 1574
1-45-17	Revokeu	v. 22, p. 220	5-23-4a 5-23-4b	Amended Amended	V. 22, p. 1933 V. 22, p. 1934	17-11-18 17-24-1	Amended	V. 22, p. 798
through			5-23-5	Revoked	V. 22, p. 1935 V. 22, p. 1935	17-24-1	Amended New	V. 22, p. 1574 V. 22, p. 1816
1-45-24	New	V. 22, p. 226-228	5-24-1	Amended	V. 23, p. 65			•
1-45-18	Amended (T)	V. 23, p. 424	5-24-2	Amended	V. 23, p. 65	AGENO	CY 19: GOVERNM COMMISSIO	
1-45-19	Amended (T)	V. 23, p. 424	5-24-3	Amended	V. 23, p. 66			
1-45-20	Amended (T)	V. 23, p. 424	5-24-4	Amended	V. 23, p. 68	Reg. No.	Action	Register
1-45-23	Amended (T)	V. 23, p. 425	5-24-6	Amended	V. 23, p. 68	19-2-2	Amended	V. 23, p. 41
1-45-24 1-47-1	Amended (T) Amended	V. 23, p. 425 V. 22, p. 850	5-24-8 5-24-11	Amended New	V. 23, p. 68 V. 23, p. 69	19-20-4	New	V. 23, p. 42
1-49-1	Amended	V. 22, p. 851	5-25-1	Amended	V. 22, p. 1819	19-60-3 19-63-6	Amended Amended	V. 23, p. 42
1-49-12	New	V. 22, p. 851	5-25-2	Amended	V. 22, p. 1819			V. 23, p. 43
	GENCY 4: DEPART	•	5-25-2a	New	V. 22, p. 1819	AGENO	CY 26: DEPARTME	INT ON AGING
A	AGRICULTU		5-25-3	Amended	V. 22, p. 1820	Reg. No.	Action	Register
Pag No	Action		5-25-4	Amended	V. 22, p. 1820	26-2-3	Amended	V. 22, p. 1258
Reg. No.		Register	5-25-5	Amended	V. 22, p. 1820	26-2-9	Amended	V. 22, p. 1259
4-4-900	Amended	V. 22, p. 1191	5-25-8 5-25-10	Amended Amended	V. 22, p. 1821 V. 22, p. 1821	AGENO	Y 28: DEPARTME	NT OF HEALTH
4-4-956	Amended	V. 22, p. 1192	5-25-10	Amended	V. 22, p. 1821 V. 22, p. 1821		AND ENVIRON	
4-4-982 4-4-983	Amended Amended	V. 22, p. 1192 V. 22, p. 1192	5-25-12	Timeraca	<u>==</u> , p. 10 <u>=</u> 1	Reg. No.	Action	Register
4-4-985	New	V. 22, p. 1192 V. 22, p. 1193	through			28-1-2		· ·
4-4-986	New	V. 22, p. 1194	5-25-20	New	V. 22, p. 1821-1824	28-1-2 28-1-2	Amended (T) Amended	V. 22, p. 2030 V. 23, p. 202
4-8-43	New (T)	V. 22, p. 82	AGE	NCY 7: SECRETA	RY OF STATE	28-1-4	Amended (T)	V. 22, p. 2031
4-8-43	New	V. 22, p. 432	Reg. No.	Action	Register	28-1-4	Amended	V. 23, p. 203
4-13-1	Amended	V. 22, p. 1194	•		ě .	28-1-20	Amended	V. 23, p. 360
4-13-2	Amended	V. 22, p. 1195	7-16-1	New (T)	V. 22, p. 1226	28-4-576	Amended (T)	V. 23, p. 389
4-13-4a 4-13-6	Amended Amended	V. 22, p. 1195	7-16-1 7-16-2	New New (T)	V. 22, p. 1650 V. 22, p. 1226	28-4-577	Amended (T)	V. 23, p. 390
4-13-7	Amended	V. 22, p. 1196 V. 22, p. 1196	7-16-2	New (1)	V. 22, p. 1650	28-4-578	Amended (T)	V. 23, p. 391
4-13-26	Amended	V. 22, p. 1196 V. 22, p. 1196			-	28-4-583 28-4-585	Amended (T) Amended (T)	V. 23, p. 392 V. 23, p. 392
4-20-5	Amended	V. 22, p. 1747	A	GENCY 9: ANIMA DEPARTMI		28-4-587	Amended (T)	V. 23, p. 394
4-20-11	Amended	V. 22, p. 385	D 17			28-4-590	Amended (T)	V. 23, p. 396
4-20-15	Amended	V. 22, p. 385	Reg. No.	Action	Register	28-4-591	Amended (T)	V. 23, p. 397
4-21-1	Amended	V. 22, p. 385	9-18-1	Amended	V. 22, p. 794	28-4-700		-
4-21-3	Amended	V. 22, p. 386	9-18-2	New (T)	V. 22, p. 1260	through	NT (TT)	17.00 200 400
4-21-4 4-21-5	Amended Amended	V. 22, p. 386 V. 22, p. 387	9-18-2	New (T)	V. 22, p. 1850	28-4-705	New (T)	V. 23, p. 398-400
4-21-5 4-21-6	Amended Amended	V. 22, p. 387 V. 22, p. 387	9-18-3 9-18-3	New (T) New	V. 22, p. 1260 V. 22, p. 1850	28-15-35 28-15-36	Amended Amended	V. 23, p. 305 V. 23, p. 309
4-21-7	New	V. 22, p. 387 V. 22, p. 387	9-16-3 9-19-1	INCW	v. 22, p. 1650	28-16-28b	Amended	V. 23, p. 309 V. 22, p. 1760
4-25-16	Amended (T)	V. 22, p. 2176	through			28-16-28d	Amended	V. 23, p. 39
4-25-16	Amended	V. 23, p. 95	9-19-11	Revoked (T)	V. 22, p. 1261	28-16-28e	Amended	V. 22, p. 1763

28-17-6 28-17-6	Amended (T)	V. 22, p. 1225		AGENCY 30: SOCIA		30-60-74	Amended	V. 22, p. 1109
28-19-202	Amended Amended	V. 22, p. 1711 V. 23, p. 70		EHABILITATION S	DERVICES	30-60-75 30-60-76	Revoked Amended	V. 22, p. 1109 V. 22, p. 1109
28-29-3	Amended	V. 22, p. 798	Reg. No.	Action	Register	30-61-1	Amended	V. 22, p. 1109 V. 22, p. 1109
28-29-20	Amended	V. 22, p. 801	30-4-39	Amended	V. 22, p. 1533	30-61-2	Amended	V. 22, p. 1109 V. 22, p. 1109
28-29-75	7 Interface	v. 22, p. 661	30-4-55	Amended	V. 22, p. 1533	30-61-5	Amended	V. 22, p. 1109 V. 22, p. 1109
through			30-4-96	Revoked	V. 22, p. 249	30-61-6	Amended	V. 22, p. 1110
28-29-82	Amended	V. 23, p. 203-205	30-4-110	Amended	V. 22, p. 1534	30-61-10	Amended	V. 22, p. 1110 V. 22, p. 1110
28-29-101	Revoked	V. 22, p. 802	30-5-59	Amended	V. 22, p. 2087	30-61-11	New	V. 22, p. 1110
28-29-109	Amended	V. 22, p. 802	30-5-64	Amended	V. 22, p. 2088	30-61-15	Amended	V. 22, p. 1110
28-29-300	New	V. 22, p. 2131	30-5-78	Amended	V. 22, p. 2090	30-61-16	Revoked	V. 22, p. 1111
28-29-302	New	V. 22, p. 2131	30-5-81u	Amended (T)	V. 22, p. 83			-
28-29-304	New	V. 22, p. 2133	30-5-81u	Amended	V. 22, p. 432	AG	ENCY 36: DEPAR	
28-29-308	New	V. 22, p. 2134	30-5-89	Amended	V. 22, p. 1355		TRANSPORTA	HON
28-29-321	New	V. 22, p. 2137	30-5-89a	Amended	V. 22, p. 1355	Reg. No.	Action	Register
28-29-325	New	V. 22, p. 2137	30-5-102	Amended (T)	V. 22, p. 83	36-40-1		=
28-36-30	Amended	V. 22, p. 1771	30-5-102	Amended	V. 22, p. 2090	through		
28-38-18	Amended	V. 22, p. 1575	30-5-105	Amended (T)	V. 22, p. 83	36-40-9	New	V. 22, p. 1806, 1807
28-38-19	Amended	V. 22, p. 1575	30-5-105	Amended	V. 22, p. 2091			
28-39-164		•	30-5-107	Amended	V. 22, p. 1043	AGEN	ICY 40: KANSAS	
through			30-5-107a	Amended	V. 22, p. 1044		DEPARTME	NT
28-39-168	Amended	V. 22, p. 2094-2096	30-5-116	Amended	V. 22, p. 2091	Reg. No.	Action	Register
28-39-169	Revoked	V. 22, p. 2096	30-5-300	Amended	V. 22, p. 2091	•		· ·
28-39-169a	New	V. 22, p. 2096	30-6-65	Amended	V. 22, p. 1044	40-1-48	Amended	V. 23, p. 426
28-39-169b	New	V. 22, p. 2097	30-6-103	Amended (T)	V. 22, p. 84	40-1-50	New (T)	V. 23, p. 244
28-39-169c	New	V. 22, p. 2098	30-6-103	Amended	V. 22, p. 433	40-1-51	New	V. 23, p. 361
28-39-170		-	30-6-106	Amended	V. 22, p. 249	40-2-26	Amended	V. 23, p. 151
through			30-6-108	Amended	V. 22, p. 1045	40-3-48	Amended	V. 22, p. 2008
28-39-174	Revoked	V. 22, p. 2099	30-6-109	Amended	V. 22, p. 1045	40-4-1	Amended	V. 22, p. 1709
28-45-2	Revoked (T)	V. 22, p. 531	30-10-14	Revoked	V. 22, p. 1355	40-4-36	Amended	V. 22, p. 465
28-45-2	Revoked	V. 22, p. 1304	30-10-15a	Amended	V. 22, p. 1355	40-5-110	Amended	V. 22, p. 1709
28-45-2a	New (T)	V. 22, p. 531	30-10-17	Amended (T)	V. 22, p. 990	AG	ENCY 44: DEPAR	TMENT OF
28-45-2a	New	V. 22, p. 1304	30-10-17	Amended	V. 22, p. 1233		CORRECTIO	
28-45-3	Revoked (T)	V. 22, p. 532	30-10-18	Amended (T)	V. 22, p. 991	D 17		
28-45-3	Revoked	V. 22, p. 1305	30-10-18	Amended	V. 22, p. 1234	Reg. No.	Action	Register
28-45-3a	New (T)	V. 22, p. 532	30-10-19	Amended (T)	V. 22, p. 994	44-5-115	Amended (T)	V. 23, p. 384
28-45-3a	New	V. 22, p. 1305	30-10-19	Amended	V. 22, p. 1236	44-6-115a	Amended (T)	V. 22, p. 383
28-45-4	Revoked (T)	V. 22, p. 533	30-10-21	Amended	V. 22, p. 1357	44-6-115a	Amended	V. 22, p. 1231
28-45-4	Revoked	V. 22, p. 1306	30-10-23b	Amended	V. 22, p. 1357	44-7-104	Amended (T)	V. 23, p. 385
28-45-4a	New (T)	V. 22, p. 533	30-14-28	Amended (T)	V. 22, p. 84	44-7-113	Amended (T)	V. 23, p. 386
28-45-4a	New	V. 22, p. 1306	30-14-28	Amended	V. 22, p. 434	44-12-313	Amended (T)	V. 23, p. 386
28-45-5	Revoked (T)	V. 22, p. 533	30-44-5	New	V. 22, p. 1047	44-12-601	Amended (T)	V. 23, p. 387
28-45-5	Revoked	V. 22, p. 1306	30-60-1	Amended	V. 22, p. 1090	44-12-1002	Amended (T)	V. 22, p. 384
28-45-5a	New (T)	V. 22, p. 533	30-60-2	Amended	V. 22, p. 1090	44-12-1002	Amended	V. 22, p. 1232
28-45-5a	New	V. 22, p. 1306	30-60-5	Amended	V. 22, p. 1090	44-13-201b	Amended (T)	V. 22, p. 384
28-45-6	Revoked (T)	V. 22, p. 534	30-60-6	Amended	V. 22, p. 1091	44-13-201b	Amended	V. 22, p. 1232
28-45-6	Revoked	V. 22, p. 1306	30-60-7	Amended	V. 22, p. 1092	۸C	ENCY 51: DEPAR	•
28-45-6a	New (T)	V. 22, p. 534	30-60-8	New	V. 22, p. 1092		N RESOURCES-	
28-45-6a	New	V. 22, p. 1306	30-60-10	Amended	V. 22, p. 1093		ORKERS COMPE	
28-45-7	Revoked (T)	V. 22, p. 535	30-60-11	Amended	V. 22, p. 1093			
28-45-7	Revoked	V. 22, p. 1308	30-60-12	Amended	V. 22, p. 1093	Reg. No.	Action	Register
28-45-7a	New (T)			New	V. 22, p. 1094		Amended	
OO 45 5		V. 22, p. 535	30-60-13		v. 22, p. 1074	51-9-7	Amenaea	V. 22, p. 1804
28-45-7a	New	V. 22, p. 1308	30-60-13 30-60-14	New	V. 22, p. 1094			V. 22, p. 1804 V. 22, p. 2031
28-45-8	Revoked (T)	V. 22, p. 1308 V. 22, p. 536			V. 22, p. 1094	51-9-17	New	V. 22, p. 2031
28-45-8 28-45-8	Revoked (T) Revoked	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309	30-60-14	New	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094	51-9-17 AGEN 0		V. 22, p. 2031
28-45-8 28-45-8 28-45-8a	Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536	30-60-14 30-60-15 30-60-16 30-60-17	New New	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095	51-9-17 AGEN 0	New	V. 22, p. 2031
28-45-8 28-45-8 28-45-8a 28-45-8a	Revoked (T) Revoked New (T) New	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18	New New New	V. 22, p. 1094 V. 22, p. 1094	51-9-17 AGEN Reg. No.	New CY 61: BOARD O	V. 22, p. 2031 F BARBERING Register
28-45-8 28-45-8 28-45-8a 28-45-9	Revoked (T) Revoked New (T) New Revoked (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19	New New New Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096	51-9-17 AGENO Reg. No. 61-4-2	New CY 61: BOARD O Action Amended (T)	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9	Revoked (T) Revoked New (T) New Revoked (T) Revoked	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25	New New New Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096	51-9-17 AGENO Reg. No. 61-4-2 61-7-1	New CY 61: BOARD O Action Amended (T) Amended (T)	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304
28-45-8 28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26	New New Amended Amended Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097	51-9-17 AGENO Reg. No. 61-4-2 61-7-1	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-9a	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536 V. 22, p. 530	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27	New New Amended Amended Amended Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097	51-9-17 AGENO Reg. No. 61-4-2 61-7-1	New CY 61: BOARD O Action Amended (T) Amended (T)	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-9a 28-45-10	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-25 30-60-27 30-60-28	New New Amended Amended Amended Amended Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097	51-9-17 AGENO Reg. No. 61-4-2 61-7-1	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-9a 28-45-10 28-45-10	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27 30-60-28 30-60-29	New New Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097	51-9-17 AGEN(Reg. No. 61-4-2 61-7-1 AGEN(Reg. No.	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10 28-45-10a	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27 30-60-28 30-60-29 30-60-30	New New Amended New New	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098	51-9-17 AGEN0 Reg. No. 61-4-2 61-7-1 AGEN0 Reg. No. 65-5-6	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended	V. 22, p. 2031 F BARBERING
28-45-8 28-45-8a 28-45-9a 28-45-9 28-45-9a 28-45-10 28-45-10 28-45-10a 28-45-10a	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27 30-60-28 30-60-29 30-60-30 30-60-40	New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098	51-9-17 AGEN0 Reg. No. 61-4-2 61-7-1 AGEN0 Reg. No. 65-5-6	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10 28-45-10a 28-45-10a 28-45-11	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) Revoked New (T) Revoked New (T) Revoked (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27 30-60-28 30-60-29 30-60-30 30-60-40 30-60-41	New New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098	51-9-17 AGEN0 Reg. No. 61-4-2 61-7-1 AGEN0 Reg. No. 65-5-6	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10a 28-45-11 28-45-11 28-45-11	Revoked (T) Revoked New (T) New Revoked (T) Revoked	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 537 V. 22, p. 537	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27 30-60-28 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45	New New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099	51-9-17 AGEN(Reg. No. 61-4-2 61-7-1 AGEN(Reg. No. 65-5-6 AGEN(New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11 28-45-11	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 537	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-25 30-60-27 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-46	New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099	51-9-17	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register
28-45-8 28-45-8a 28-45-9a 28-45-9 28-45-9a 28-45-10 28-45-10a 28-45-10a 28-45-11a 28-45-11a 28-45-11a	Revoked (T) Revoked New (T) New Revoked (T) Revoked	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 537 V. 22, p. 537	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-47	New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099	51-9-17	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10 28-45-110a 28-45-11a 28-45-11a 28-45-11a 28-45-11a	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 537	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-27 30-60-28 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-46 30-60-47 30-60-48	New New New Amended New New	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099	51-9-17	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9a 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-18 30-16-19 30-60-25 30-60-25 30-60-28 30-60-29 30-60-30 30-60-41 30-60-41 30-60-45 30-60-47 30-60-48 30-60-49	New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10 28-45-110a 28-45-11a 28-45-11a 28-45-11a 28-45-11a	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 537	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-47 30-60-48 30-60-49 30-60-50	New New New Amended New New Amended New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No.	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register
28-45-8 28-45-8 28-45-8a 28-45-9 28-45-9 28-45-10 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-30 28-45-12	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-27 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-47 30-60-48 30-60-49 30-60-49 30-60-50 30-60-51	New New Amended New New Amended Amended Amended Amended Amended Amended Amended Amended New	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100	51-9-17	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-30	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-27 30-60-28 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-48 30-60-49 30-60-50 30-60-50 30-60-50	New New Amended New New Amended New New Amended New Amended New Amended New Amended New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 11101 V. 22, p. 1101	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended Amended Amended	V. 22, p. 2031 F BARBERING
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-12 through	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked New (T) New New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-18 30-16-19 30-60-25 30-60-25 30-60-28 30-60-29 30-60-30 30-60-41 30-60-41 30-60-45 30-60-49 30-60-49 30-60-50 30-60-51 30-60-55 30-60-56	New New New Amended New New Amended New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1102 V. 22, p. 1102 V. 22, p. 1103	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended Amended Amended Amended Amended	V. 22, p. 2031 F BARBERING
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9a 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11through 28-45-30 28-45-30	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked New (T) New New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-18 30-60-18 30-60-25 30-60-25 30-60-26 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-47 30-60-49 30-60-50 30-60-51 30-60-55 30-60-55 30-60-56	New New New Amended New New Amended New	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1009 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1101 V. 22, p. 1102 V. 22, p. 1103 V. 22, p. 1103	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended Amended Amended Amended Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9a 28-45-9a 28-45-10a 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-30 28-45-30 28-45-30 28-45-30 28-45-30 28-45-30	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked New (T) New New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 1309 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-47 30-60-48 30-60-50 30-60-51 30-60-55 30-60-56 30-60-57 30-60-60	New New New Amended New New Amended New New Amended New Revoked	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1102 V. 22, p. 1103 V. 22, p. 1103 V. 22, p. 1103	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-15	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 18
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9 28-45-10 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-30 28-45-30 28-45-30 28-45-30 28-45-31 through	Revoked (T) Revoked New (T) New Revoked New (T) New New (T)	V. 22, p. 1308 V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-29 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-46 30-60-47 30-60-48 30-60-55 30-60-51 30-60-55 30-60-56 30-60-57 30-60-60 30-60-61	New New Amended New New New Amended New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1102 V. 22, p. 1103	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-15 68-2-20	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 430 V. 22, p. 430 V. 22, p. 119
28-45-8 28-45-8a 28-45-8a 28-45-9 28-45-9a 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-30 28-45-30 28-45-11 through 28-45-11 through 28-45-11 through 28-45-11 through 28-45-11	Revoked (T) Revoked New (T) New Revoked New (T) New New (T)	V. 22, p. 1308 V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-18 30-16-19 30-60-25 30-60-25 30-60-29 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-49 30-60-50 30-60-50 30-60-55 30-60-57 30-60-60 30-60-60 30-60-60 30-60-61 30-60-61	New New New Amended New New New New Amended New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1101 V. 22, p. 1103	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12 68-2-15 68-2-20 68-7-12	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 430 V. 22, p. 119 V. 22, p. 119
28-45-8 28-45-8 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-30	Revoked (T) Revoked New (T) New Revoked New (T) New New (T)	V. 22, p. 1308 V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-29 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-46 30-60-47 30-60-48 30-60-55 30-60-51 30-60-55 30-60-56 30-60-57 30-60-60 30-60-61	New New Amended New New New Amended New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1102 V. 22, p. 1103	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-15 68-2-20 68-7-12	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS TRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 119
28-45-8 28-45-8 28-45-8 28-45-9 28-45-9 28-45-9 28-45-10 28-45-10 28-45-10a 28-45-11 28-45-11 28-45-11 28-45-11 28-45-12 through 28-45-30 28-45-30 28-45-31 through 28-45-31 through 28-45-19 28-45-19 18-45-19 28-45-19 28-45-19	Revoked (T) Revoked New (T) New New (T) New New (T)	V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-25 30-60-29 30-60-30 30-60-40 30-60-41 30-60-45 30-60-47 30-60-49 30-60-50 30-60-51 30-60-55 30-60-57 30-60-61 30-60-61 30-60-61 30-60-61 30-60-62 30-60-62 30-60-63 30-60-63	New New New Amended New New New New Amended New New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1101 V. 22, p. 1103	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-15 68-2-20 68-7-12 68-7-12a 68-7-12a	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended CY 68: BOARD O Action Amended New	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 119 V. 22, p. 120 V. 22, p. 120
28-45-8 28-45-8 28-45-8a 28-45-9 28-45-9 28-45-9a 28-45-10 28-45-10a 28-45-11a 28-45-11a 28-45-11a 28-45-11a 28-45-12 through 28-45-30 28-45-30 28-45-30 28-45-31 through 28-45-1 28-45-1 through 28-45-1 28-45-1 28-45-1 28-45-1 28-45-1 28-45-1 28-45-1 28-45-1 28-45-1 28-45-1	Revoked (T) Revoked New (T) New New (T) New New (T)	V. 22, p. 1308 V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310 V. 22, p. 1310-1321 V. 22, p. 548-557 V. 22, p. 1321-1331	30-60-14 30-60-15 30-60-16 30-60-17 30-60-18 30-16-19 30-60-25 30-60-26 30-60-29 30-60-30 30-60-40 30-60-41 30-60-47 30-60-48 30-60-50 30-60-51 30-60-55 30-60-56 30-60-56 30-60-57 30-60-61 30-60-62 30-60-61 30-60-62 30-60-63 30-60-63 30-60-64 30-60-70	New New Amended New New Amended New Amended New Amended New Amended New New Amended New New Revoked Revoked Amended New New Revoked Amended New New Amended New New Amended New New Amended New Amended New Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1101 V. 22, p. 1102 V. 22, p. 1103 V. 22, p. 1104 V. 22, p. 1105	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-15 68-2-20 68-7-12b 68-7-12b 68-7-20	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended New New	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 119 V. 22, p. 119 V. 22, p. 119 V. 22, p. 120 V. 22, p. 120 V. 23, p. 382
28-45-8 28-45-8 28-45-8 28-45-9 28-45-9 28-45-9 28-45-9 28-45-10 28-45-10 28-45-10 28-45-11 28-45-11 28-45-11 28-45-11 28-45-11 28-45-11 through 28-45-30 28-45-30 28-45-31 through 28-45-31 through 28-45-31 through 28-45-31 through 28-45-31 28-45-11 28-45-11	Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) New Revoked (T) Revoked New (T) Revoked New (T) New Revoked (T) Revoked New (T) New New (T) New New (T)	V. 22, p. 1308 V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537-548 V. 22, p. 1310-1321 V. 22, p. 548-557 V. 22, p. 1321-1331 V. 22, p. 1321-1331 V. 22, p. 2099	30-60-14 30-60-15 30-60-16 30-60-18 30-16-19 30-60-25 30-60-25 30-60-27 30-60-28 30-60-29 30-60-30 30-60-41 30-60-45 30-60-45 30-60-49 30-60-50 30-60-50 30-60-50 30-60-50 30-60-50 30-60-61 30-60-62 30-60-62 30-60-62 30-60-62 30-60-64 30-60-64 30-60-64 30-60-64 30-60-64 30-60-64	New New New Amended New New Amended Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1103 V. 22, p. 1104 V. 22, p. 1105 V. 22, p. 1105 V. 22, p. 1108 V. 22, p. 1108 V. 22, p. 1108	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-12a 68-7-12 68-7-12a 68-7-12a 68-7-12b 68-7-20 68-8-1	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended New New Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 119 V. 22, p. 119 V. 22, p. 119 V. 22, p. 120 V. 22, p. 120 V. 22, p. 120 V. 22, p. 382 V. 22, p. 382 V. 22, p. 382
28-45-8 28-45-8 28-45-8 28-45-9 28-45-9 28-45-9 28-45-10 28-45-10 28-45-10 28-45-11 28-45-11 28-45-11 28-45-11 28-45-11 28-45-11 28-45-11 through 28-45-30 28-45-30 28-45-31 through 28-45-11 through 28-45-11 through 28-51-100 28-51-100	Revoked (T) Revoked New (T) New New (T) New New (T)	V. 22, p. 1308 V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 1310 V. 22, p. 1310-1321 V. 22, p. 1311-1321 V. 22, p. 1321-1331 V. 22, p. 2099 V. 22, p. 2100	30-60-14 30-60-15 30-60-16 30-60-18 30-16-19 30-60-25 30-60-25 30-60-28 30-60-29 30-60-30 30-60-41 30-60-41 30-60-45 30-60-49 30-60-50 30-60-51 30-60-55 30-60-56 30-60-57 30-60-60 30-60-61 30-60-62 30-60-63 30-60-64 30-60-64 30-60-67 30-60-67 30-60-70 30-60-70	New New New New Amended New New New Amended New New Amended New New Amended New New New Revoked Revoked Revoked Revoked Amended New New Amended Amended Amended Amended Amended Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1100 V. 22, p. 1103 V. 22, p. 1105 V. 22, p. 1105 V. 22, p. 1105 V. 22, p. 1105 V. 22, p. 1108 V. 22, p. 1108 V. 22, p. 1108	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-15 68-2-20 68-7-12b 68-7-12b 68-7-20	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended New New	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 119 V. 22, p. 120 V. 23, p. 382 V. 22, p. 431
28-45-8 28-45-8 28-45-8 28-45-9 28-45-9 28-45-9 28-45-9 28-45-10 28-45-10 28-45-10 28-45-11 28-45-11 28-45-11 28-45-11 28-45-11 28-45-11 through 28-45-30 28-45-30 28-45-31 through 28-45-31 through 28-45-31 through 28-45-31 through 28-45-31 28-45-11 28-45-11	Revoked (T) Revoked New (T) New New (T) New New (T)	V. 22, p. 1308 V. 22, p. 1308 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 536 V. 22, p. 1309 V. 22, p. 537 V. 22, p. 1310 V. 22, p. 537-548 V. 22, p. 1310-1321 V. 22, p. 548-557 V. 22, p. 1321-1331 V. 22, p. 1321-1331 V. 22, p. 2099	30-60-14 30-60-15 30-60-16 30-60-18 30-16-19 30-60-25 30-60-25 30-60-27 30-60-28 30-60-29 30-60-30 30-60-41 30-60-45 30-60-45 30-60-49 30-60-50 30-60-50 30-60-50 30-60-50 30-60-50 30-60-61 30-60-62 30-60-62 30-60-62 30-60-62 30-60-64 30-60-64 30-60-64 30-60-64 30-60-64 30-60-64	New New New Amended New New Amended Amended Amended Amended Amended	V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1094 V. 22, p. 1095 V. 22, p. 1095 V. 22, p. 1096 V. 22, p. 1096 V. 22, p. 1097 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1098 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1099 V. 22, p. 1100 V. 22, p. 1103 V. 22, p. 1104 V. 22, p. 1105 V. 22, p. 1105 V. 22, p. 1108 V. 22, p. 1108 V. 22, p. 1108	51-9-17 AGENO Reg. No. 61-4-2 61-7-1 AGENO Reg. No. 65-5-6 AGENO Reg. No. 66-8-5 AGENO Reg. No. 68-2-9 68-2-10 68-2-11 68-2-12a 68-2-12a 68-7-12 68-7-12a 68-7-12a 68-7-12b 68-7-20 68-8-1	New CY 61: BOARD O Action Amended (T) Amended (T) CY 65: BOARD O IN OPTOME Action Amended CY 66: BOARD O PROFESSIO Action Amended CY 68: BOARD O Action Amended New New Amended	V. 22, p. 2031 F BARBERING Register V. 22, p. 1304 V. 22, p. 1304 F EXAMINERS FRY Register V. 22, p. 1575 F TECHNICAL NS Register V. 23, p. 95 F PHARMACY Register V. 22, p. 118 V. 22, p. 119 V. 22, p. 119 V. 22, p. 119 V. 22, p. 120 V. 22, p. 120 V. 22, p. 120 V. 22, p. 382 V. 22, p. 382 V. 22, p. 382

					0			
68-11-1	Amended	V. 22, p. 122	82-1-231b	Amended	V. 22, p. 1664	91-38-2	Amended	V. 22, p. 356
68-11-2	Amended	V. 22, p. 122	82-1-232	Amended	V. 22, p. 1665	91-38-3	Amended	V. 22, p. 357
68-12-2	Amended	V. 22, p. 122	82-1-235	Amended	V. 22, p. 1666	91-38-5	Amended	V. 22, p. 357
68-13-1	Amended	V. 22, p. 122	82-1-237	Amended	V. 22, p. 1666	91-38-6	Amended	V. 22, p. 358
AGEN		OF VETERINARY	82-1-238 82-1-239	Amended Amended	V. 22, p. 1666 V. 22, p. 1667	91-38-7	Amended	V. 22, p. 360
	EXAMIN	IERS	82-3-101	Amended	V. 23, p. 426	AGENC	Y 92: DEPARTME	ENT OF REVENUE
Reg. No.	Action	Register	82-3-600	Amended	V. 23, p. 429	Reg. No.	Action	Register
70-5-1	Amended	V. 23, p. 360	82-3-600a	Amended	V. 23, p. 430	92-19-200		
AGEN	CY 71: KANSAS	DENTAL BOARD	82-3-600b	Revoked	V. 23, p. 430	through		
Reg. No.	Action	Register	82-3-601a 82-3-601b	Amended Amended	V. 23, p. 430 V. 23, p. 431	92-19-203	New	V. 22, p. 431
71-1-1	Revoked	· ·	82-3-602	Amended	V. 23, p. 431 V. 23, p. 431	92-51-24 92-51-25	Amended Amended	V. 23, p. 40 V. 23, p. 40
71-1-1	Revoked	V. 23, p. 151 V. 23, p. 151	82-3-603	Amended	V. 23, p. 431	92-51-28	New	V. 23, p. 40
71-1-3	Revoked	V. 23, p. 151	82-3-604	Amended	V. 23, p. 432	92-51-29	New	V. 23, p. 41
71-1-8	Revoked	V. 23, p. 151	82-3-605	Revoked	V. 23, p. 432	92-51-34a	New	V. 23, p. 41
71-1-10	Revoked	V. 23, p. 151	82-3-606 82-3-607	Amended New	V. 23, p. 432	92-52-9	Amended	V. 23, p. 41
71-1-11 71-1-15	Revoked Amended	V. 23, p. 151	82-3-700	New	V. 23, p. 433			T OF REVENUE—
71-1-13	Revoked	V. 23, p. 151 V. 23, p. 151	through			DIVISI	ON OF PROPER	IY VALUATION
71-2-4	Revoked	V. 23, p. 151	82-3-704	Amended (T)	V. 23, p. 152-155	Reg. No.	Action	Register
71-2-9	Revoked	V. 23, p. 151	82-3-705			93-6-4	Amended	V. 22, p. 666
71-2-12	Revoked	V. 23, p. 151	through	Mary (T)	V 22 m 1EE 1E0	93-6-7	New	V. 22, p. 666
71-3-5 71-4-1	Revoked	V. 23, p. 151	82-3-710 82-4-2	New (T) Amended	V. 23, p. 155-158 V. 22, p. 86	AGEN	CY 94: BOARD O	F TAX APPEALS
71-4-1	Amended Revoked	V. 23, p. 151 V. 23, p. 152	82-4-3a	New (T)	V. 22, p. 2175	Reg. No.	Action	Register
71-6-1	Amended	V. 23, p. 383	82-4-20	Amended	V. 22, p. 86	94-2-4	Amended (T)	V. 22, p. 1504
71-7-1	New	V. 23, p. 152	82-4-21	Amended	V. 22, p. 87	94-2-4	Amended	V. 22, p. 2009
AGENC	Y 74: BOARD C	F ACCOUNTANCY	82-4-23	Amended	V. 22, p. 87	94-2-19	Amended (T)	V. 22, p. 1504
Reg. No.	Action	Register	82-4-26	Amended	V. 22, p. 87	94-2-19	Amended	V. 22, p. 2009
_		· ·	82-4-26a 82-4-27	Amended Amended	V. 22, p. 88 V. 22, p. 88	94-2-20	Amended (T)	V. 22, p. 1504
74-1-1	Amended	V. 22, p. 1894	82-4-27a	Amended	V. 22, p. 88 V. 22, p. 88	94-2-20 94-2-21	Amended	V. 22, p. 2010
74-1-2 74-1-3	Amended Amended	V. 22, p. 1894 V. 22, p. 1894	82-4-27e	Amended	V. 22, p. 89	94-2-21	New (T) New	V. 22, p. 1505 V. 22, p. 2010
74-1-6	Amended	V. 22, p. 1895	82-4-28	Amended	V. 22, p. 89			•
74-1-8	New	V. 22, p. 1895	82-4-28a	Amended	V. 22, p. 89			F HEALING ARTS
74-2-1	Amended	V. 22, p. 1896	82-4-29	Amended	V. 22, p. 90	Reg. No.	Action	Register
74-2-4	Revoked	V. 22, p. 1896	82-4-29a	Amended	V. 22, p. 90	100-22-4	New	V. 22, p. 690
74-4-7 74-4-8	Amended Amended	V. 22, p. 1896	82-4-30a 82-4-32	Amended Amended	V. 22, p. 90 V. 22, p. 90	100-29-9	Amended	V. 22, p. 1892
74-4-9	Amended	V. 22, p. 1896 V. 22, p. 1897	82-4-35	Amended	V. 22, p. 90 V. 22, p. 91	100-29-10 100-54-2	Amended	V. 22, p. 1893
74-5-202	Amended	V. 22, p. 1898 V. 22, p. 1898	82-4-46	Amended	V. 22, p. 91	through		
74-11-6	Amended	V. 22, p. 1898	82-4-49b			100-54-8	Amended	V. 22, p. 1926-1929
74-11-7	Amended	V. 22, p. 1898	through			100-54-4	Amended (T)	V. 23, p. 383
74-12-1	Amended	V. 22, p. 1898	82-4-49e	Revoked	V. 22, p. 91	100-55-4	Amended (T)	V. 23, p. 383
	AGENCY 75: ST		82-7-2 through			100-55-5	Amended	V. 22, p. 690
		SION OF CONSUMER	82-7-5	Revoked	V. 22, p. 91	100-55-9 100-72-1	Amended	V. 22, p. 690
Α	AND MORTGAG	GE LENDING	82-8-1	Amended	V. 22, p. 91	through		
Reg. No.	Action	Register	82-8-2	Amended	V. 22, p. 91	100-72-7	New (T)	V. 22, p. 79-81
75-6-33	New	V. 22, p. 1815	82-8-3	Amended	V. 22, p. 92	100-72-1		•
75-6-34	New	V. 22, p. 1454	82-11-1	Amended	V. 22, p. 1078	through		** ** *** ***
AGE	NCY 82: STATE	CORPORATION	82-11-3 82-11-4	Amended Amended	V. 22, p. 1079 V. 22, p. 1079	100-72-6 100-72-7	New New	V. 22, p. 691, 692
	COMMIS	SION	82-11-8	Amended	V. 22, p. 1079 V. 22, p. 1084	100-72-7	New (T)	V. 22, p. 1893 V. 22, p. 82
Reg. No.	Action	Register	82-11-10	Amended	V. 22, p. 1084	100-75-1	New	V. 22, p. 693
82-1-201	Revoked	V. 22, p. 1650		NCY 88: BOARD	-		CY 102: BEHAVIO	-
82-1-202	Amended	V. 22, p. 1650		Action	Register	HOLIV	REGULATORY	
82-1-204	Amended	V. 22, p. 1650	Reg. No.		· ·	Reg. No.	Action	Register
82-1-204a	New	V. 22, p. 1652	88-23-2	Amended	V. 23, p. 276	-		· ·
82-1-205 82-1-206	Amended Amended	V. 22, p. 1652 V. 22, p. 1652	88-23-2a 88-23-3	New Revoked	V. 23, p. 278 V. 23, p. 279	102-1-3a 102-1-3a	Amended (T) Amended	V. 22, p. 1267 V. 22, p. 1808
82-1-207	Amended	V. 22, p. 1652 V. 22, p. 1652	88-23-3a	New	V. 23, p. 279	102-1-3b	New (T)	V. 22, p. 1268
82-1-208	Amended	V. 22, p. 1652	88-23-7	New	V. 22, p. 1709	102-1-3b	New	V. 22, p. 1809
82-1-212	Amended	V. 22, p. 1652	AG	ENCY 91: DEPAR	TMENT OF	102-1-8	Amended	V. 22, p. 1148
82-1-214	Amended	V. 22, p. 1653		EDUCATIO		102-1-10a	Amended	V. 22, p. 2179
82-1-215	Amended	V. 22, p. 1653	Reg. No.	Action	Register	102-1-15	Amended	V. 22, p. 1149
82-1-216 82-1-218	Amended Amended	V. 22, p. 1653	_		=	102-2-2b 102-2-2b	New (T) New	V. 22, p. 1269
82-1-219	Amended	V. 22, p. 1653 V. 22, p. 1654	91-1-201 91-1-203	Amended Amended	V. 22, p. 2125 V. 22, p. 2126	102-2-2b	New (T)	V. 22, p. 1810 V. 22, p. 1270
82-1-220	minimu		91-1-206	Amended	V. 22, p. 2120 V. 22, p. 2129	102-2-2c	New (1)	V. 22, p. 1811
	Amended	V. ZZ, D. 1000			V. 22, p. 2130			V. 22, p. 1150
82-1-221	Amended Amended	V. 22, p. 1655 V. 22, p. 1655	91-1-213	Amended	v. 22, p. 2130	102-2-4a	Amended	v. 22, p. 1150
82-1-221b	Amended Revoked	V. 22, p. 1655 V. 22, p. 1656	91-18-24	Revoked	V. 23, p. 280	102-2-7	Amended	V. 22, p. 2182
82-1-221b 82-1-222	Amended Revoked Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656	91-18-24 91-18-27	Revoked Revoked	V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9	Amended Amended	V. 22, p. 2182 V. 22, p. 1151
82-1-221b 82-1-222 82-1-224	Amended Revoked Amended Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656	91-18-24 91-18-27 91-18-29	Revoked Revoked Revoked	V. 23, p. 280 V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9 102-2-11	Amended Amended Amended	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151
82-1-221b 82-1-222 82-1-224 82-1-225	Amended Revoked Amended Amended Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656	91-18-24 91-18-27 91-18-29 91-18-34	Revoked Revoked Revoked Revoked	V. 23, p. 280 V. 23, p. 280 V. 23, p. 280 V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9 102-2-11 102-2-12	Amended Amended Amended Amended	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151 V. 22, p. 1084
82-1-221b 82-1-222 82-1-224 82-1-225 82-1-226	Amended Revoked Amended Amended Amended Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1657	91-18-24 91-18-27 91-18-29 91-18-34 91-18-40	Revoked Revoked Revoked	V. 23, p. 280 V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9 102-2-11 102-2-12 102-3-3a	Amended Amended Amended Amended Amended	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151 V. 22, p. 1084 V. 22, p. 1302
82-1-221b 82-1-222 82-1-224 82-1-225	Amended Revoked Amended Amended Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656	91-18-24 91-18-27 91-18-29 91-18-34 91-18-40 91-31-16	Revoked Revoked Revoked Revoked	V. 23, p. 280 V. 23, p. 280 V. 23, p. 280 V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9 102-2-11 102-2-12	Amended Amended Amended Amended	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151 V. 22, p. 1084
82-1-221b 82-1-222 82-1-224 82-1-225 82-1-226 82-1-227 82-1-228 82-1-229	Amended Revoked Amended Amended Amended Amended Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1657 V. 22, p. 1657	91-18-24 91-18-27 91-18-29 91-18-34 91-18-40	Revoked Revoked Revoked Revoked	V. 23, p. 280 V. 23, p. 280 V. 23, p. 280 V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9 102-2-11 102-2-12 102-3-3a 102-3-4b 102-3-4b 102-3-7a	Amended Amended Amended Amended Amended New (T)	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151 V. 22, p. 1084 V. 22, p. 1302 V. 22, p. 1271 V. 22, p. 1811 V. 22, p. 1085
82-1-221b 82-1-222 82-1-224 82-1-225 82-1-226 82-1-227 82-1-228 82-1-229 82-1-230	Amended Revoked Amended Amended Amended Amended Amended Amended Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1657 V. 22, p. 1657 V. 22, p. 1657 V. 22, p. 1658 V. 22, p. 1658	91-18-24 91-18-27 91-18-29 91-18-34 91-31-16 through 91-31-30 91-31-31	Revoked Revoked Revoked Revoked Revoked	V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9 102-2-11 102-2-12 102-3-3a 102-3-4b 102-3-4b 102-3-7a 102-3-9a	Amended Amended Amended Amended Amended New (T) New Amended Amended	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151 V. 22, p. 1084 V. 22, p. 1302 V. 22, p. 1271 V. 22, p. 1811 V. 22, p. 1085 V. 22, p. 1151
82-1-221b 82-1-222 82-1-224 82-1-225 82-1-226 82-1-227 82-1-228 82-1-229 82-1-230 82-1-230a	Amended Revoked Amended Amended Amended Amended Amended Amended Amended New	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1657 V. 22, p. 1658 V. 22, p. 1659 V. 22, p. 1659	91-18-24 91-18-27 91-18-29 91-18-34 91-31-16 through 91-31-30 91-31-31 through	Revoked Revoked Revoked Revoked Revoked	V. 23, p. 280 V. 22, p. 124	102-2-7 102-2-9 102-2-11 102-2-12 102-3-3a 102-3-4b 102-3-4b 102-3-7a 102-3-9a 102-3-10a	Amended Amended Amended Amended Amended New (T) New Amended Amended Amended	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151 V. 22, p. 1084 V. 22, p. 1302 V. 22, p. 1271 V. 22, p. 1811 V. 22, p. 1085 V. 22, p. 1151 V. 22, p. 1152
82-1-221b 82-1-222 82-1-224 82-1-225 82-1-226 82-1-227 82-1-228 82-1-229 82-1-230	Amended Revoked Amended Amended Amended Amended Amended Amended Amended	V. 22, p. 1655 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1656 V. 22, p. 1657 V. 22, p. 1657 V. 22, p. 1657 V. 22, p. 1658 V. 22, p. 1658	91-18-24 91-18-27 91-18-29 91-18-34 91-31-16 through 91-31-30 91-31-31	Revoked Revoked Revoked Revoked Revoked	V. 23, p. 280 V. 23, p. 280	102-2-7 102-2-9 102-2-11 102-2-12 102-3-3a 102-3-4b 102-3-4b 102-3-7a 102-3-9a	Amended Amended Amended Amended Amended New (T) New Amended Amended	V. 22, p. 2182 V. 22, p. 1151 V. 22, p. 1151 V. 22, p. 1084 V. 22, p. 1302 V. 22, p. 1271 V. 22, p. 1811 V. 22, p. 1085 V. 22, p. 1151

					O			
102-4-4b	New	V. 22, p. 1812			egulations filed by the	112-4-1a	New	V. 22, p. 278
102-4-6a	Amended	V. 22, p. 2186			through 2003 can be	112-4-1b	New	V. 22, p. 279
102-4-9a	Amended	V. 22, p. 1153			52, December 25, 2003	112-6-4	Amended	V. 22, p. 85
102-4-10a	Amended	V. 22, p. 1153			ving regulations were	112-8-4	Amended	V. 22, p. 1428
102-4-12	Amended	V. 22, p. 2187	filed after Ja	nuary 1, 2004:		112-8-5	Amended	V. 22, p. 1428
102-5-3	Amended	V. 22, p. 1087	Reg. No.	Action	Register	112-9-44	Amended	V. 22, p. 279
102-5-4b	New (T)	V. 22, p. 1273	111-2-151			112-10-2	Amended	V. 22, p. 85
102-5-4b	New	V. 22, p. 1813	through			112-10-3	Amended	V. 23, p. 93
102-5-7a	Amended	V. 22, p. 1088	111-2-156	New	V. 23, p. 95, 96	112-11-20	Amended	V. 22, p. 281
102-5-9	Amended	V. 22, p. 1155	111-2-154	Amended	V. 23, p. 261	112-12-10	Amended	V. 22, p. 86
102-5-10	Amended	V. 22, p. 1155	111-2-155	Amended	V. 23, p. 262	112-13-2	Amended	V. 23, p. 94
102-5-12	Amended	V. 22, p. 2189	111-2-156	Amended	V. 23, p. 262	112-18-9	Amended	V. 22, p. 1710
102-5-16	New	V. 22, p. 1158	111-2-157	New	V. 23, p. 262	112-18-11	Amended	V. 22, p. 1710
102-6-9	Amended	V. 22, p. 1159	111-3-22	Amended	V. 23, p. 97	112-18-18	Amended	V. 22, p. 1710
102-6-10	Amended	V. 22, p. 1159	111-4-881	Amended	V. 23, p. 97	AG	ENCY 115: DEP	ARTMENT OF
AGE	ENCY 108: STA	TE EMPLOYEES	111-4-1448	Amended	V. 23, p. 98		WILDLIFE AN	D PARKS
		COMMISSION	111-4-2052	Amended	V. 23, p. 262	Dog No	Action	Danistan
D 11		D : 4	111-4-2055	Amended	V. 23, p. 263	Reg. No.	Action	Register
Reg. No.	Action	Register	111-4-2057	Amended	V. 23, p. 263	115-1-1	Amended	V. 22, p. 1930
108-1-4	Amended	V. 22, p. 2177	111-4-2074	Amended	V. 23, p. 98	115-2-1	Amended	V. 22, p. 1932
	AGENCY 109:	ROADD OF	111-4-2093	Amended	V. 23, p. 309	115-4-6	Amended	V. 22, p. 1227
		DICAL SERVICES	111-4-2094	New	V. 23, p. 100	115-4-11	Amended	V. 22, p. 436
			111-4-2095	11011	v. 20, p. 100	115-17-6		
Reg. No.	Action	Register	through			through		
109-3-2	New	V. 23, p. 202	111-4-2115	New	V. 23, p. 264-275	115-17-9	Amended	V. 22, p. 437-439
109-5-4	Amended	V. 22, p. 1805	111-4-2097	Amended	V. 23, p. 310	115-18-8	Amended	V. 22, p. 1229
109-7-1	Amended	V. 22, p. 1805	111-4-2098	Amended	V. 23, p. 310	115-18-10	Amended	V. 22, p. 439
		-	111-4-2116	Timeraca	20, p. 010	115-21-1	Amended	V. 22, p. 1506
AGENCY	II0: DEPARTN	IENT OF COMMERCE	through			115-21-2	Amended	V. 22, p. 1507
Reg. No.	Action	Register	111-4-2125	New	V. 23, p. 311-318	Α	GENCY 117: RE	EAL ESTATE
110-8-1		_	111-5-96	Amended	V. 23, p. 101		APPRAISAL	
through			111-5-111			Dog No		
110-8-6	New	V. 22, p. 2032, 2033	through			Reg. No.	Action	Register
110-8-8	11011	v. 22, p. 2002, 2000	111-5-115	New	V. 23, p. 245, 246	117-1-1	Amended	V. 22, p. 684
through			111-7-188			117-2-1	Amended	V. 22, p. 684
110-8-11	New	V. 22, p. 2033, 2034	through			117-3-1	Amended	V. 22, p. 685
110-10-1	New (T)	V. 22, p. 1815	111-7-192	New	V. 23, p. 319, 320	117-4-1	Amended	V. 22, p. 686
110-10-1	New (1)	V. 23, p. 180	ACENO	CV 112. D A CINIC	G AND GAMING	117-5-2	Amended	V. 22, p. 2007
		•	AGEN	COMMISS		117-6-1	Amended	V. 22, p. 687
AGI	ENCY 111: KA	NSAS LOTTERY				117-6-2	Amended	V. 22, p. 688
A comple	ete index listing	g all regulations filed by	Reg. No.	Action	Register	117-6-3	Amended	V. 22, p. 688
		988 through 2000 can be	112-3-11	Amended	V. 22, p. 1427	117-8-1	Amended	V. 23, p. 337
		52, December 28, 2000	112-4-1	Amended	V. 22, p. 2057	117-9-1	Amended	V. 23, p. 150
					•			•

Kansas Register Secretary of State 1st Floor, Memorial Hall 120 S.W. 10th Ave. Topeka, KS 66612-1594

	Use this form or a copy of it to	o enter a subscription:	
	_ One-year subscription @ \$80 ea. (Kansas residents must include \$5.76 state and local sales tax.)		Rec. No
Send to:	Total Enclosed (Make check payable to the Kansas Re	gister)	Exp Code
(Please, no more than 4 address lines.)			Code
	Zip code must b	pe included	
Remov	Use this form or a copy of it to enterve your mailing label (above) and affix it here:	r a name or address ch Indicate change of na here:	-